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Abstract

This note is based on the course, Graph Thoery I given by professor Catherine Yan on Spring 2017
at Texas A&M University. Much part of this note was TEX-ed after class. Every blemish on this note is
Byeongsu’s own.
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1 Terminology

Definition 1.1 (Graph). A graph G = (V, E), a pair of two set (or multiset) such that V is called a set

(or mulitset) of vertices and E C ((g)) 1s called a set of edges.

Notation 1.2 (Chooseing from set with whether allowing repeat or not). (%) is a set of two elements subset

of V', without allowing repeat. However, ((‘2/)) is a set of two elements subset of V', allowing repeat. Thus,

ifexeV, (z,2) & (‘2/) but (z,z) € ((‘2/)) .

Definition 1.3 (Digraph and Arc). A digraph G = (V, D), a pair of two set (or multiset) such that V is
called a set (or multiset) of vertices and D is a collection of pairs of V.. In the digraph, we call elements
of D as arc. So, (x,y) € D means v — y, which is directed, in contrast to the fact that {x,y} € E means
undirected edge.

There are several ways of representing a graph.
« G=(V,E)

e picture

e matrix

Definition 1.4 (Order and Size). Let G = (V, E) be a graph and |V| =n, |E| = m. Then, the order
of G is n and the size of G is m.

Definition 1.5 (Adjacency matrix and Incident Matrix). Suppose |V| =n, |E| =m, withV = {x;},
and E = {e;}}'_, indexed sets. Then, the Adjacency matrix of G is
1if {z;,z;} € E
Agli,j) = "
a(i.J) {O otherwise.

Also, Incidence matrix of G is

€1 €2 €m

Un

1ifvi€ejeE

such that I(1,j) = {0 otherwise

Note that if G contains a loop, then one should specify how to express loop in the incidence matrix,
whether gives 2 or 1 for the loop and its vertex.

Example 1.6 (Example of an adjacency matrix and an incident matrix). For the figure |1}, its adjacency
matriz and incident matriz are
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if we specify that just give 1 for (u, eyy).



Figure 1: Example graph G = (V, E), with V = {z,y,z,w,u} and E = {eglcy7 egy, eiy, Exws Exuy Cun -

Definition 1.7 (Complete graph and Cycle). Define K|y = (V, (‘2/)) be a complete graph. Also, let
C, = (V,E), where V.= {v;}1, and E = {{v;,vi11 1} U {{vn,v1}} be a cycle of length n.
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Figure 2: Example of complete graphs and cycle of length 5.

Definition 1.8 (Simple graph). G is called simple if it has no loop or multiple edges.
Notation 1.9 (Abuse of notation). We use v € G for abbreviation of veV € G = (V, E).

Definition 1.10 (Degree of a vertex, neighbor of vertex). Let G = (V, E) be a graph. For any x € V,
the degree of x, deg(x), is defined as the number of edges that incident with x. Neighbor of V! C V is
Ng(V') CV such that Vy € Ng(V'),3x € V' such that {z,y} € E, namely, the set of all vertices which are
incidents with any verter in V'.

Remark 1.11. Note that in case of G has a loop, then we will count the loop as 2 for degree of a vertex.

Definition 1.12 (Regular graph). A graph G = (V, E) is regular if Vo € V, deg(x) = d for some fized
integer d.

Thus empty graph is regular since it has no edge, therefore, deg(v) = 0.

1T

Figure 3: Example of 1-regular graphs; 1- regular graph with vertex set V is called called mathcing on V

Example 1.13 (Example of regular graph). 1-Regular graph is just union of line segments, as shown in
figure[3 2-reqular graph is union of cycles. It is difficult to classify n-reqular graph with n > 3.

Definition 1.14 (Subgraph, spanning subgraph, and induced subgraph). Let G = (V, E) be a graph. Then
G' = (V',E') is called subgraph if G’ is a graph itself and V' CV and E' C E. The subgraph G’ is called
spanning subgraph if V = V’. Also, it is called induced subgraph if E' = EN (‘g/)
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a) Graph G a subgraph  (c) not a subgraph a subgraph a subgraph
not induced mduced not induced
not spanning not spanning spanning

Figure 4: Example of subgraph, induced subgraph, and spanning subgraph.
Definition 1.15 (Complement of a graph). Let G = (V, E), a graph. Then define G = (V, (‘2/) —FE) bea
complement of G.

Definition 1.16 (Clique of a graph). Let G = (V, E), a graph. Define clique as a complete subgraph of G.

Figure 5: In this graph, the subgraph with red edges is a clique, since it is Kjy.

Definition 1.17 (Independent Set). In V € G = (V, E), a subset V' C V is called independent (stable)
set if induced graph on V' is empty, i.e., a set of pairwise nonadjacent vertices.

Example 1.18 (Example of independent set). If we take {v,z} C V in figure[5, induced graph is empty
since it has no edge.

Definition 1.19 (Bipartite graph). A graph G = (V,E) is bipartite graph if V = X UY such that
X#£0,Y #0, and X,Y are independent set. Note that \J is a notation for disjoint union. Also, a bipartite
graph G = (X UY, E) is called complete bipartite graph if Ve € X,y €Y, {z,y} € E.
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Figure 6: A cubical graph is indeed bipartite graph; think its vertices as disjoint union of A and O.
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Definition 1.20 (Walk, trail, path, length, distance). A walk is a sequence of vertices vg — v1 — -+ — Vg
such that {v;,vi41} € E. If vg = v, then it is called closed walk. A trail is a walk with distinct edges.
A path is a walk with distinct vertices, except vg = vi. If a path has a property that vg = vy, it is called
closed walk or cycle. And length of a walk, a trail or a path is the number of edges in a walk, a trail, or a
path respectively. Thus, for u,v € V, uwv-walk, uv-trail, or uv-path denotes a walk, a trail or a path starting
from u and ending at v. And, distance between u and v is defined as minimum length of all wv-path.



Some books represent this concept by edges.

Proposition 1.21. Let u,v € V for some graph G = (V, E). Then,
Juv-walk <= Juv-path.

Proof. If uv-path exists, it is also uv-walk. If uv-walk exists, then note that it is finite; say {v;}¥_; Thus, if
we find that v, = v,, for some distinct n < m < k, then make a new uv-walk {v/}*="" such that

o v if1<i<n
U.:
! Umenti ifn <i<k—m+n.

Note that {v]} is also a uv-walk, since vy = u, Vg—m4n = vx = v, and
{vn g1} = {vn, vms1} = {Vm, vms1} € E.

Repeat this process until a new walk has no repeated vertices. Since {vi}le are finite, it has only finitely
many repeated vertices, thus it terminates in finite time. The final result is uv-path, since it contain no
repeated vertices. O

Definition 1.22 (Girth). A girth of G is a length of minimum cycles of a graph G. If it has no cycle, the
girth is infinite.

Definition 1.23 (Connected graph). A graph G = (V, E) is connected if Vu,v € V, Juv-walk.

Definition 1.24 (cut-edge and cut-vertex). Let G = (V, E) be a graph. If 3e € E or v € V whose deletion
will increase the number of connected components of G, then it is called cut-edge or cut-vertex.

Proposition 1.25. An edge is a cut-edge if and only if it belongs to no cycle.

Proof. Let e € E such that e = wv. Assume that G is connected. (Otherwise, take its connected component

containing e = uv.) Suppose e belongs to no cycle. Then, for any uv-path in G say {v;}%_;, it contains e;

otherwise, let {u; fill be a path such that u; = vi .lff .1 Sszlk Then, it is closed path, thus it is cycle,
wif i = .

and it contains e = uv = {vgvg+1}, contradicting to the assumption. Thus, by deleting e, there is no uv-path

in G — {e}, since every uv-path should contain e in G. Thus, there is no uv-walk in G — {e}. Hence, G — {e}

is disconnected, thus connected component of G increased by the deletion.

Conversely, let e = uv is a cut edge. Also assume G is connected. Suppose there exists a cylce {v;}¥_,
such that v1 = u, vg_1 = v,vx = u. Then, think about G’ = (V, E — {e}). Pick a,b € V and let {u;}",
be ab-walk in G. If {u;}7, contains e, then we also have a new ab—walk by replacing e to {vl}f;f, say
{u;}. Then {u;} is a ab-walk in G’. Since a,b were arbitrarily chosen, G’ is also connected, contradicting
the assumption that e is a cut-edge. O

Note that deleting an edge from G increases the number of connected components at most 1. On the
other hand, if we delete a vertex from G, the number of connected components may increases many.

Theorem 1.26 (Konig). G is bipartite <= G has no odd cycle.

Proof. Suppose G is connected. (Otherwise, we can represent this as union of connected bipartite graphs,
thus it suffices to show that each connected component is bipartite.)

Let G = (X WY, E) and {v;}¥_, be a cycle. Without loss of generality, let vy € X. Then, vy = v; € X.
Since every edges connects a vertex in X to a vertex in Y, v € Y, since {vjv2} € E and v; € X. Thus, if
v; € X, then v;41 € Y. Hence, vg;_1 € X and vg; € Y forany 1 <1 < [g], where [g] is the largest integer
not exceeding % Since v, € X, k = 2l — 1 for some [. Thus, k is odd, therefore the cycle is even since it
contains (20l — 1) — 1 =21 —2=2(I — 1) edges.

Conversely, Assume G has no odd cycle. Take v € G. Define X = {u € V : Juv-walk which has even
length } and Y = {u € V : Juv-walk which is odd length }. Since G is connected, X UY = V. Suppose
XNY # (. Then, 3w € XNY, so it has two vw-walks, one is odd length and the other is even length. Hence,



their concatenation gives an odd walk in G and by the below lemma, it gives an odd cycle, contradiction.
Thus, X NY = . Also, for any z1,22 € X, z119 € F, then vzi-walk is even, x1x2 is odd walk (since it is
an edge), and xov-walk is even. Thus, v — x1 — x5 — v is an odd-walks, thus it gives an odd cycle by the
lemma, contradiction. Similarly, for any y1,y2 € Y, if y1y2 € E, v — y1 = y2 — v gives an odd walks, thus
it contains an odd cycle by the lemma, contradiction. Hence G is bipartite. O

Lemma 1.27. If there exists an odd closed walk in G, then there exists an odd cycle.

Proof. First of all, if the length of odd closed walk is 1, then it is loop, thus it is cycle. Suppose it holds for
any 2k — 1 length of odd closed walk. Then, let {v; fﬁrz be the odd closed walk of length 2k + 1. If it has

no repeated vertices, then it is a odd cycle itself, done. If it contains a cycle, say {v;}/,, we have two closed

1=
walks, one is {v;}/” and the other is {ui}giﬁ+2)_m+" such that

V4 fl1<i<n
Ui = . .
Umenti 0 <1< (2k+2) —m+n.

Since (m —n) + ((2k +2) — m +n — 1) = 2k + 2, there are two cases. If m — n is even, then {v;}7  is
an odd closed walk, thus it contains an odd cycle by the inductive hypothesis, done. If m — n is odd, then
(2k+1) — (m —n) = (odd)-(odd) = (even) thus {ui}(2ﬁ+2)_m+" is an odd closed walk, thus it contains an

1=
odd cycle by the inductive hypothesis. In any case, {vz}fflr2 contains an odd cycle. O

1.1 Eulerian Circuit

Definition 1.28 (Eulerian Circuit). An Eulerian Circuit is a closed trail containing all edges.
Usually, circuit denotes a cycle with specifying the starting vertex.

Definition 1.29. A graph G is called FEulerian if it has an Eulerian circuit.

Proposition 1.30. G is Eulerian <= G is connected and Yv € V, deg(V) is even.

Proof. To see (LHS) == (RHS), let {vo}¥_, be the closed trail. Then, every a pair of vertices have a walk
which is the part of the closed trail. Hence it is connected. Now suppose v € V' be an arbitrary vertex. Then,
it may have a loop, which count 2 when calculating the degree. Otherwise, it may have an edge which is not
a loop, say vu € F. In this case, it should have another edge which is not a loop, since the closed trail gives
two walks from u to v, one is the edge uv, and the other is going in backward; which means, the complement
of uv in the closed trail. In the complement, it should have an edge which is not a loop. Thus, for any edge
containing v, there is another distinct edge containing v, to keep the closed trail exist. Therefore, deg(v) is
even, since it is sum of two times of the number of loops and the sum of all incident edges, which can be
paired in each other.

To see (RHS) = (LHS), suppose G has a size m = |E(G)|. If m = 0, then done, since the closed trail
contain a one vertex. Suppose it holds for any graph with size less than equal to m —1. Now consider G has a
size m. Since every vertex’s degree is even, it has a cycle C, by the below lemma. Let G' = G(V, E — C(E)).
Then, the size of any connected component of G’ is less then m — 1. Thus, it has the eulerian circuit. Now,
we can get the eulerian circuit of G, by traversing C', and if we met a vertex of each connected component of
G’ at first, then we traverse the eulerian circuit of the component, and restart traversing C' from the point
we stopped to traversing the eulerian circuit of the component. This is a closed trail of G, and it contains
every edge of GG, since any edge is contained in C or G’, and this trail contains eulerian circuit of every
connected component of G’. Hence, G is Eulerian. O

Remark 1.31 (Proof strategy in Graph theory). First of all, think constructively. Second, go to extreme
case.

Definition 1.32 (Maximal Path). A mazimal path in a graph G is a path that is not contained in a longer
path.

If GG is finite graph, it always have a maximal path, since any path cannot be extended forever.



Lemma 1.33. If every vertex of a graph G has degree at least 2, then G contains a cycle.

Proof. Let P be a maximal path in G, and let v € P be an endpoint of P. If P is a cycle, done. Otherwise,
since P is maximal, P contains any neighbors of v, otherwise we can add the edge between v and the neighbor
to extend P, contradiction. However, since P is not a cycle, P contains only one edge containing v. However,
since deg(v) > 2, there exists an edge containing v but not in P. Say this edge contains w. Then, u is the
neighbor of v, thus it is contained in P. Hence, by adding uv in the P, P has a cycle starting from u to v
along P, and go back to u by the added edge. O

Definition 1.34 (Eulerian Trail). An Eulerian trail is an open trail containing all the edges.

Proposition 1.35. G = (V, E) has an open Eulerian trail start at w and end at v. <= G is connected
and Yw # u,v, deg(w) is even. deg(u) and deg(v) are odd.

Proof. To see (LHS) = (RHS) let T be the open trail starts at u and ends at v in G. This open trail
gives a walk for any pair of vertices, thus G is connected. Then, TU{v — u} C G’ = (V, E U {vu}) gives a
Euler circuit of G/, thus G’ is Eulerian, hence every vertices in G’ has even degree. Thus, u and v has even
degree in G’ by the above proposition, hence it has odd degree in G since G is a graph reducing one edge
containing u and v.

To see (RHS) = (LHS), just think G’ again, and this gives a Euler circuit 7", then cutting vu in that
circuit gives an open trail starting at v and ending at v. O

Remark 1.36. 1. Counting each loops contributes 2 to the degree of the vertex.

2. Y ey deg(v) = 2|E(G)|, since one edge, say uv, should be counted twice when we calculate deg(u) and
deg(v).

3. If G = (V, E) and the order |V| = n, the size |E| = m, then the average degree is M = 2,
Thus, if G is a k-regular graph on n-vertices, then ), .y, deg(v) = kn = 2m.

1.2 Hypercube
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Figure 7: Examples of hyper cube.

Let Vi = {(€1,--- ,€ex) : ¢ = 0or 1}. For 2,y € V, where z = (z1,--- ,z),y = (y1, - ,Yx), define
By = {zy: z,y € Vi such that Zle |z; — y;| = 1}. Then,

Definition 1.37. Qi = (Vi, Ex) is called a hypercube.
Note that dist(z,y) := Zle |z; — ;| is called the hamming distance.
Proposition 1.38. Q. is bipartite.

Proof. Fix v € Vi, Let X = {x € V} : dist(v,z) iseven}, Y = {z € V} : dist(v,x) is odd.} Then, for any
T,y € X, O



1.3

Figure 8: Peterson Graph

Peterson Graph

Let S ={1,2,3,4,5}. Then define

V = { 2 subsets of S}, E = {v; ~v; : v;,v; € V,u; Nv; = 0}

Then G(V, E) is the Peterson graph, as shown in the above. Note that

1.

-~ w

6.

G is 3-regular graph.

G is not bipartite, since it has an odd cycle.
G is A-free; there is no 3-cycle.

G has 5-cycles. How many 5-cycles?

Yu,v € V, either u ~ v or |N(u) N N(v)| = 1; by condition of E, if uNv # @ but u # v, this implies
|lunwv| = 1. Thus, |uUv| = 3, therefore for w := S\ (uUwv) € E, and w is the only element in
N(u) N N(v).

Thus, the diameter, max(dist(u,v)) = 2.

It has a lot of extremal properties.

1.4

1.

Extremal Properties

If G is connected, |V| =n = |E| > n — 1. Actually, |E(G)| + #connnected component > n.

Proof. Use Induction. If n = 2, G is connected if and only if there exists at least an edge for two
vertices. Suppose it holds for n — 1 and G is connected with n vertices. Then, G has a connected
subgraph G’ with |V (G’)| = n—1. By the inductive hypothesis, |E(G’)| > n—2. Let v € V(G)\V(G").
Since G is connected, there is an edge e € F(G) such that v € e. Thus, G'Ue gives a connected subgraph
of G containing every edges of G and |E(G' Ue)| > n — 1.

To see second proposition, let P be partition of G which consists of each connected components of G.
Then, for each partition p € P, |E(p)| + 1 > |V (p)|. Hence

|E(G)| + #connnected component = » (|E(p)|+1) > > [V(p)| = V(G).
peEP peP

Let §(G) be minimum degree, and A(G) be maximum degree.

Proposition 1.39. §(G) > 251, Then G is connected.



Proof. Let u,v € V(G). Then, deg(u), deg(v

) > 0(G) = 251; To get a contradiction, N(u) NN (v) = 0.
Then, since |N(u)| = deg(u), |N(v)| = deg(v),

n—1 n-—1
2 2

IN(u) UN(v)| = [N(u)| + [N (v)] = [N(u) N N(v)] > =n—L
However, N(u) N N(v) =0 gives N(u) has possibly n — 2 candidates, excluding itself and v, and N (v)
also has possibly n — 2, vice versa. Thus,

n—1<|Nu)UN@W)|<n-2,
contradiction. O

3. Assume G has no loop. Then, G has a bipartite subgraph with at least &f)l edges.

Constructive proof. Use the greedy method. Find an edge {u,v}. Put u € X,v € Y. Now add vertex
as maximizing the number of crossing edges; for example, if w has more edges incident to vertices in X
than incident to those in Y, then w should be in Y. This process must be terminated since this process
increases number of edges on the bipartite subgraph of X. Thus, when this process terminated, the
degree of each vertex in the bipartite graph is greater than or equal to half of the degree in G. Thus,
. . . . |[E(G)I

the number of edges in the bipartite graph is greater than or equal to =5 O
Probabilistic proof. A scheme for probabilistic method is to construct probabilistic space reflecting
problems. We will show that a desired property happens with positive probability.

For the given problem, first of all, do a random bipartition by building a random subset X in V(G).
In other words, the bipartition is (X, V(G) — X). To build X, use random picking such as

1
Yo e V(G),Plve X)= 3

which is independent between different vertices. Let N be the number of crossing edges from X to
V — X. For every edge e € E(G), define

Xe _ { 1I € 18 crossing

0 otherwise.

Then, N = ZQEE(G’) X.. Then,

e€E(G)
and since
. . . . 11 11 1

Ezp(X.) =1- P(e is crossing) + 0 - P(e is not crossing) = 1 - (5 3t3 5) =5

since e = uw is crossing if and only if u € X,v € Y or u € Y,v € X. Thus,
EG
Erp(N) = Y Eap(x,) = PG
ecE(G)

Therefore, we can conclude that there is a structure for which N = &f)l O]

Definition 1.40 (H-free). A graph G is H-free if G has no induced subgraph isomorphic to H.

s . . . 2
Theorem 1.41 (Mantel’s theorem). Let G is a simple graph of order n. If G is A-free, then |E(G)| < {%J



Proof. Assume the maximum degree of G is k on a vertex v. Then, N(v) should be independent set, since
it is A-free. Now we can partitioning the E(G) as two sets; edge containing v and those not containing v.
Thus, every edges has at least one end point in {v} U (V' \ Ng(X)). Thus,

|B(G) <deg(v)+ > deg(y) <k+(n—k—1k=kn—k),
yeEVA({v}UN(v))

since every vertex in G has degree at most k. Thus, by first derivative test, we know that k(n — k) < "Tz.
And since |E(G)| is an integer,
n

m@%{ﬁ.

Note that if |[E(G)| = deg(v) + X, ev\ ((o1un(e)) d€8(y), then V'\ (N (v) U {v}) is also independent set.
Also, if

deg(v)+ Y deg(y) =k(n— k),
yEVA{v}IUN(v))
then it is the complete bipartite graph; think that in the complete bipartite, V' — N(z) gives the set of one
partition in the bipartite, excluding xz. Actually, think K l2].[2]" It is the case second inequality is actually

an equality. If |[E(G)| = V{J in this graph, then n should be even. O

We can generalize this result; if a graph with n vertices is K,,-free, then we can divides the n vertices into
m — 1 equal parts.

1.5 Hamilton Path and cycles.

Definition 1.42 (Hamilton cycle and paths). The Hamilton cycle or Hamilton path is a spanning
cycle or path such that every vertices in a graph is contained in the cycle exactly once.

Definition 1.43 (Ore’s property). Let G = (V, E). IfVa,y € V, if x + y, then deg(x) + deg(y) > n.
Theorem 1.44 (Ore’s theorem). If G is simple and has Ore’s property, then G has a Hamilton cycle.

Proof. Note that G is connected; since either x ~ y or N(z) N N(y) # 0, by Ore’s property, from the
fact that |N(z) U N(y) \ {z,y}| < n — 2. Now suppose we have the longest path with distinct vertices,
Pryr =y = = yme

1. Case 1: Suppose y; ~ ym. If m =n =V(G), done. If m < n, there exists x ¢ V(P) and y € V(P)
such that x ~ y; to see this, suppose = has no edges incident to y’ € V(P). Then, by above argument
used for proving connectedness of G, N(z) N N(y') # 0; let y € N(z) " N(y'). If y € V(P), done.
Otherwise, y — y1 — y2 — -+ — Y, gives the longest path with distinct vertices, contradiction.
Thus, there exists such y in V(P), say y = yx. In this case, we con construct a path such that

T =Yk 7 Ye—1 = YL = Ym > Ym—1 = > Ykl
This is longer than P, contradiction.

2. Case 1: Suppose y1 % ym. Then, N(y1) C V(P), N(ym) C V(P), otherwise it is not maximal. Idea
is this; if we have some yj, and yg41 such that y; ~ yr4+1 and yg ~ y,, then we can have longer (closed)
path such that

Yo = Ye—1 = - 7 Y1 = Yk+1 = Ykt2 = 0 7 Ym — Yk

If we got this path, then it is contradiction, and also we can go back to case 1 to have the Hamilton
cycle.

How to make our dream come true? Suppose if not; then let deg(y;) = r, and N(y) N V(P) =
{irs Yins - ¥i }- Then, y;; 1 & N(ym) by our assumption. Thus,

deg(ym) = IN(ym)| <m—-1—r<n—-1-r,

10



thus
deg(ym) +deg(yr) <n—1—r+r=n-1,

contradicting to Ore’s property.

Corollary 1.45. If §(G) > § then G has a Hamilton cycle.
Proof. Yu,v € V(G), deg(u) + deg(v) > n, thus G satisfies Ore’s property. O

Corollary 1.46. Vz,y € V, suppose deg(x) + deg(y) > n — 1 whenever x # y. Then G has the Hamilton
path.

Proof. In fact, this inequality supports the same argument on the proof of Ore’s theorem, i.e., we can replace
Ore’s property with this condition. O

1.6 Tournament

Definition 1.47 (Tournament). A Tournament on n vertices is a complete graph with orientation.

Al

is an example of tournament. In this case, i — j can be represented as i beats j.

For example,

Theorem 1.48. Let T be a tournament. Then, T has a Hamilton path.

Proof. Let |V(T)| = 2. Then it has Hamilton path, which is T itself. Suppose it holds for |[V(T)| =n — 1.
Now we have T),_1, which is subtournament of 7" having n — 1 vertices. This has a Hamilton path, say
V1 — Uy — -+ - U,_1, Up to renumbering. Then, we can see as below picture.

Note that dashed line represent an edge, since a tournament is completet graph, but we don’t know it’s
orientation. There are two cases;

1. If v, — v1 or v,_1 — v exists, then we are done.
2. Otherwise, we have below pictures.

U1

Now we have another cases. If v,, — vo, then vy = v, — v9 — -+ — v,_1 is a Hamilton path. Or if
Up_o — Up, we have v1 — vo — -+ — v_9 — ¥, — U,_1 as a Hamilton path. Otherwise, we have

another picture;
V1 V2 Un—-2 Un-—1

11



Thus, by repeating the same argument, the only case left from the argument is v; — v, for ¢ < k, and
v, — v for j > k. Then, take

V] — Vg — " Vg > VUp > Va1l — " > Up_1
as our Hamilton path. Thus, in any case, 7" has a Hamilton path. O

Theorem 1.49. The number of Hamilton path on a tournament T is less than L";J
2L2

To see this, we need the Stirling’s formula;

Proposition 1.50 (Stirling approximation).
n n
n! ~V2mn - <7)
e

Proof is just from Gamma distribution approximated by Normal distribution. In this note, we just use
it.

Proof of the theorem. Given a Hamilton path 7 — x5 — -+ — x,, this contain arcs (edges in digraph)
€ : To;_1 —> Tgi, from i =1tot = L%J Different Hamilton paths will give different list of arc sequences.
Note that it may be restricted to find connecting arc for chosen arc, thus we didn’t include connecting arc
in counting. In fact, any chosen two distinct arc should be path by using an arc connecting them; since by
choosing distinct nonadjacent two arc, we can have subtournament consisting of four vertices, which has a
Hamilton path by the above theorem. Thus, let NV be the number of Hamilton paths on T'. Then, it is below
then the number of ways choosing disjoint nonadjacent arcs in T'; thus

N < (;l)(n;z)m(n_(zg. LgJ)) :J'J

Theorem 1.51. There exists a tournament on n vertices with at least 27711 Hamilton paths.

Proof of the theorem. Take a random tournament. For all ¢ # j, where 4, j € [n], assume that
1
Pit—j)==.
(i =J) =3
For any ordering O := xyx5 - - - x, of vertices,

P(O is a Hamiltonian path) =

on—1"

since for each consecutive pair (x;,z;41), there are only two cases, where x; — x;41 or ;41 — x;, and the
above event is when x; — x;41 occurs. Let N be the number of Hamilton paths in 7. Note that N is random
variable in this case. Then,

N= Z X5, where X, = {1 if o is a Hamilton path

otherwise.
o is ordering of V' 0

Then, note that E(X,) =1- 2,%1 +0-(1- 2,%1) = =1+ Hence,

2

EN)= Y B(X)= o

o is ordering of V'

from linearlity of the expectation operation. Thus, there exists a tournament 7" with 2,?—11 Hamilton paths.
O

n!

Remark 1.52. The best known result for this problem is in [1|; it shows that N < ¢- ns . FreT -
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2 Trees

Let G be simple graph.

Definition 2.1 (Acyclic graph, forest, and tree). G is an acyclic if and only if G has no cycle. Denote an
acyclic graph as forest, and connected acyclic graph as tree.

Theorem 2.2. The followings are equivalent.
(A) G is connected and acyclic.
(B) G is connected and |[E(G)| =n — 1.
(C) G is acyclic, |E(G)| =n — 1.
(D) Yu,v € V(G), Jluv-path.
Before prove this proposition, we need a lemma.

Lemma 2.3. FEvery tree T with at least two vertices has at least two leaves. Deleting a leaves from an
n-vertex tree produces a tree with n — 1 vertices.

Proof of the lemma. Take a maximal path on the tree. Two endpoints of the maximal path has no other
neighbors except in the path; otherwise, since T is acyclic, we can make the path longer by adding the other
neighbor, contradiction. Hence, those two points are leaves in the tree. Also, by deleting a leaf v, it cannot
generates a cycle. Also, since it is degree 1, every pair of vertices in V(T') — {v} also has a path in T — v,
since the edge e connecting v and an other point cannot be in the wwv-path; if it is included in the wv-path,
then it gives repeatition of using e, contradicting to the definition of path. Thus, T'— v is also connected
and acyclic, therefore it is a tree with n — 1 vertices. O

Proof of the theorem. 1. A = B,C Use induction. If n = 1, then it has no edge, done. Suppose it
holds for graph with vertices fewer than n. G has a leaf by the lemma, and G — v is also a tree. Thus,
by inductive hypothesis, E(G — v) = n — 2, therefore, E(G) =n — 1.

2. B = A,C It suffices to show that G is connected. Let G’ be a subgraph of G deleting an edge from
each cycle in G. Then, G’ has no cycle. By the proposition [1.25] no edges in a cycle is cut-edge, G’ is
still connected, but acyclic. Thus |E(G’)| = n—1, by (A), which is the same as |E(G)|. Hence G = G’
and G is acyclic.

3. C = A,B Let Gy, ,Gj be connected components of G. Note that G; are connected and acyclic,
thus |E(G;)| = |V(G;)| — 1 by (A), for any i € [k]. Thus,
k k
n—1=|E(G)| =) [BEG) =) V(G ~k=n—k
i=1 i=1

implies k£ = 1.

4. A = D Suppose there exists two uv-path, P and Q. If P and Q are distinct, there exists k, k' € N
such that P(k) = Q(k’) but the subpath P(k) — P(end) and Q(k¥’') — Q(end) do not share any
internal points except P(end) = v = Q(end). This gives a cycle, contradiction. Thus, P = Q.

5. D = A If G has a cycle, G has a two uv-path for some u, v in the cycle, contradiction.

Let T be a tree.
Corollary 2.4. 1. Every edge is a cut-edge.
2. e+ T form exactly one cycle, called unicycle graph.

3. Every connected graph has spanning trees.
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Proof. By the proposition [1.25] an edge is cut-edge iff it belong to no cycle. Since T" has no cycle, every edge
is cut edge. Also, let e = {u, v} for some u,v € V(T). Let uv-path in T is P. Since P is unique uv-path in
T, e+ T gives a cycle e + P. If e + T has more than one cycle, such as P + ¢ and P’ + e, (note that P’ is
just any path.) then we can generate cycle in T' by connecting endpoint of P to those of P’, contradiction.
To show last statement, let G’ be a subgraph of G deleting an edge from each cycle in G. Then, G’ has no
cycle. By the proposition [1.25] no edges in a cycle is cut-edge, G’ is still connected, but acyclic. Thus, G’ is
a spanning tree of G. O

Proposition 2.5. Let G be a simple connected graph, and T be a spanning tree of G. Let ¢’ € E(G)\ E(T).
Then, de € E(T) such that T + ¢ — e is a spanning tree. Conversely, let e € T such that there exists a
spanning tree T' such that e & E(T"), then e’ € T' such that T' — e + €’ is a spanning tree.

Proof. Note that T + ¢’ gives exactly one cycle, by the above corollary. Thus, take any cut-edge e in the
cycle and delete it. Then, it is an tree containing every vertex in G, since T + ¢’ is unicycle graph. Thus,
such e exists.

Conversely, e +T" is unicycle graph, thus there exists ¢/ € T” such that T/ — e + ¢’ is a spanning tree, by
the same argument. O

Definition 2.6 (Diameter). A diameter of a simple graph G is
diam(G) = max{d(u,v) : u,v € V(G)}.

Proposition 2.7. G is a simple graph if diam(G) > 3 = diam(G) < 3.
Proof. diam(G) > 3 = Ju,v € V(G) such that dist(u,v) > 3. Thus, Ng(u) N Ng(v) = 0. Hence, for any
z,y € V(G) x and y are not in at least one of Ng(u) or Ng(v). Thus,

(r € Ngorz e Ng)or (y€ Ngory€ Ng)

Since wv € E(G), distz(z,y) =2 or 3. O

2.1 Chemical Graph Theory
This is a topological indices on Graph.
Definition 2.8 (Wiener index on connected graph G). The Wiener index on connected graph G, D(G)

is defined as
D(G) = Z dg(u,’U),

u,veG
where d(u,v) is the distance between u and v, which is minimum length of uv-path.

Theorem 2.9. Among all trees of n vertices, the minimum of Wiener index is achieved on Star, and the
maximum of Wiener index is achieved on path.

Proof. Note that d(u,v) =1 if u ~ v, and d(u,v) > 2 if u % v. So

D(T)2n1+2<<g) (nl)),

where first n — 1 comes from edges of T and the last 2 ((5) — (n — 1)) comes from the minimal distance of
each pair of nonadjacent vertices. And equality holds if every pair of nonadjacent vertices has distance 2,
which is satisfied by Star. To show that no other trees achieves this, let u be a leaf of T, using the lemma,
and v is the adjacent vertex of u. If all other vertices have distance 2 from u, it must be neighbor of v, thus
T is star.

Also, we can prove that D(T) is maximized when T is a path using induction. If n = 1, done. Suppose it
holds for any number of vertices less than n. Let u be a leaf on T'. Then, we know that for some leaf u € T',

D(T) = d(u,v) + D(T \ u).

uFv
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By inductive hypothesis, D(T \ u) < D(P,,_1). where P,_; is a path with n — 1 vertices. Thus it suffices to
show that 3°,, d(u,v) is maximized when T" = P,. Note that maximum possible distance between u and
some vertex is n — 1, since T has only n — 1 edges. If u has distance n — 1 from some vertex, then u has
every other distances, such as 1,2,---n — 2. This is when T' = P,. If u has no such vertex, then there exists
a repetition of some number in [n — 2], and no n — 1 distance, therefore sum of distances from u to every
other vertex is less than that of P,; thus T' = P,. O
2.2 Enumeration of trees

Let V ={1,2,--- ,n} := [n]. Then,

Theorem 2.10 (Cayley’s theorem). The number of all possible trees on the vertices set [n] is n™ 2.

To prove this, we need some tools, called Priifer code.

Definition 2.11 (Priifer code). Priifer code is an algotihm mapping a tree T to sequences of [n] with
length n — 2. This algorithm is below;

1. Find a minimum leaf, say v, with respect to order in V.
2. Write down the neighbor of V

3. Delete v

4. Go to 1 until there are only 2 vertices left.

For example, let T' be a tree in below.

O—O—OD—®

Then, 2 is the minimum leaf. Thus write
ayp = 1

O D——@

and delete 2.




The minimum leaf is 3. Thus write
ag = 1

% ®

The minimum leaf is 1. Thus write

and delete 3.

and delete 1.

The minimum leaf is 5. Thus write

aq = 4
and delete 5.
Cj/@ @
The minimum leaf is 4. Thus write
as = 6

and delete 4.

The minimum leaf is 7. Thus write
ag = 6

and delete 7.

[

Now our Priifer code is 114466, done.

Note that the total number of Priifer code is n”~“. Note that leaves are not shown in the code. In
general, for any v € T, v appears on Priifer code with deg(v) — 1 times. Also, recovering a tree from given
Priifer code is given below.

First of all, given (a1, as,---a,_9) € [n]"~2, find vertices not in a set A = {a;}7-2. This is our starting
set S. Then, take the least number x on S. Now delete x and a1 by making an edge za;. Update

n—2
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S — U if A
A={a; ?;22, and S = {( fzh) Ui} ifar g Repeat this until A is emptyset. Note that for each

(S —{z}) otherwise.
step i, n —i+1 =S|+ |A| and n —i — 1 = |a|, thus |S| has at least two elements for each step. The last
two elements in S is the last edge added for tree. Then we are done. For example, from our code 114466,

(a1,a9, - ,ag) S added edge in this step
114466 2,3,5,7,8 12 should be added
14466  3,5,7,8 13 should be added
4466 1,5,7,8 14 should be added
466 57,8 45 should be added
66 4,7,8 46 should be added
6 7,8 67 should be added
6,8 68 should be added.

Let dy,ds,---d, € N are sequence of degree of each vertex, i.e., d; = deg(i) for all ¢ € [n]. Then,
Yo di = 2(n — 2). From this and using the fact that the number of appearance of i in a Priifer code is
deg(i) — 1, we have such corollary

Corollary 2.12. The number of labeled trees on [n] such that deg(i) = d; is

n—2
dl_]-vdZ_]-a"'vdn_]- -

"=2 which contains exactly d; — 1 many i for each i € [n]. O

Proof. Tt is just find a sequence in [n]

2.3 Spanning Tree

Let G be a connected; G does not have to be simple. Let 7(G) be the number of spanning trees of G. Now,
we have two operations. Let e € E(G). Then Deletion means G — e, and contraction means G/e, i.e.,
remove e and glue two endpoints of e together. For example, below picture is when we get G/e (right graph)
from G (left graph).

1 2 1 2~ 4
e I
3 4 3

Proposition 2.13 (Deletion-contraction principle). Let e € E(G) be not a loop. Then
7(G) =7(G —e) +7(G/e).

Proof. Let S be set of all spanning trees of G. Then, E can be partitioned as two set; a spanning tree
containing e and a spanning tree doesn’t containing e. The number of spanning tree containing e is the same
as spanning trees in G/e, since if T is a spanning tree of GG, then T'/e is a spanning tree of G/e, and vice
versa. Also, if T is a spanning tree not having e, then it is a spanning tree of G — e, and vice versa. O

Remark 2.14. 1. Note that empty graph and disconnected graph has 7(G) = 0. If G is a tree with multi
edges, T(G) = [1i—, m;, where m; is the number of multi edge in each i-th position of edges.

2. 7(K,) =n""2. Proof is required.
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2.3.1 Build a spanning tree

The main question is this; given a connected graph G, each edge has a weight w(e) > 0. We want a spanning
tree with minimum total weight, i.e., minr is spanning tree Y eeq W(€)-

Definition 2.15 (Kruskal’s algorithm). 1. Input (V(G), E(G)).
2. Start at F = 0.

3. While 3o € E(G) such that a & F and that FU{a} is acyclic, find such an edge with minimum weight.
Join the minimum such edge to F'.

4. Output (V, F)

Note that it is finite, since it terminates eventually in finite time, since G has only finitely many edges.
Also, (V, F) is a tree, since it maintain acyclic property. It is needed to show that Kruskal’s algorithm gives
the minimum spanning tree.

Claim 2.16. The output of Kruskal’s algorithm is the minimum spanning tree.

Proof. Let the edges of T = (V, F) be indexed, i.e., F' = {ey, -+ ,e,_1}, in the order they join F. Let T be
a minimum spanning tree which shares the most number of edges with T'. It suffices to show that TV = T If
not, there exists k € [n — 1] such that e, ¢ T”, such that e; --- ;ex—1 € TUT’, but e; € T’ for i > k, up to
renumbering. Let 5 € 77\ T such that 7" = T’ + e, — 8 is a spanning tree. Such § exists by the theorem
about tree. Now there are two cases. Let w(G) be the total weight of a graph G.

Note that w(T") > w(T"), since T” is the minimum spanning tree. Thus, w(ex) > w(B). Then, by the
rule of the algorithm, w(3) > w(ey), otherwise 8 should be chosen in the k-th step of the algorithm. Thus,
w(ex) = w(B). By repeating this argument, we can conclude that w(7T”) = w(T"). Then T” has more edges
in common with 7', contradiction. O

Now there is another algotirhm.
Definition 2.17 (Prim’s algorithm). 1. Start at any vertez u. Let Vi = {u}, F1 = 0.

2. For each i-th step, let o; = {x,y} € E(QG) such that x € V;,y & V; with minimal weight. Such «; exists
and we can find it, since there exists only finitely many edges.

3. Update Viz1 = V; U{y} and Fi41 = F; U{a;}.
4. Repeat this n times.
5. Output is (V,,, Fy,).

Now think about the special case of graph G, where G has vertices on [n] and edges are ordered by the
lexicographic order. Then, Prim(G) is an well-defined tree on [n]. Thus, we can think of Prim(-) as a map
such that

Prim : A = { connected graph on [n]} — B = { labeled trees on [n]}.

Note that VI' € B, there exist G € A such that Prim(G) = T; put G = T. We can ask what the inverse
image of T is. Obviously, for any G € A such that Prim(A) =T, T C G. Thus G = T U{ other edges}. Let
C = { other edges}. Let’s begin with example for some T, as below.

In this example, if 13 € C, then Prim(G) # T, since Prim algorithm should choose 13 instead of 23 € T.
Thus 13 ¢ C. 14 ¢ B for the same reason; otherwise, 7" should contain 14 instead of 24. However,
25,34,35,45 can be chosen for C, since even these edges are in B, Prim algortihm will choose 15,24, 15, 15,
respectively. Thus, by this observation, we can conclude that
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Observation 2.18. If Prim(G) = T, then Prim(G Ue) = T if and only if e is the longest one (an edge
having the mazimum weight) among vertices in the cycle (which is unique) in T Ue.

From this, we can define some

Definition 2.19 (Externally active vertices). Let T be a tree on [n] with E(T) C (%), where (3) is the set
of all 2-subset of [n], having a lezicographical order. Then Ve € (3) \ E(T), if e is the longest edge in the
cycle of T'Ue, then we say e is externally active with respect to T. Denote

EA(T) := { externally active edges of T}, ea(T) := |EA(T)|.

Theorem 2.20. Prim~Y(T) = [T,T U EA(T)], where [T, T UEA(T)] = {G : T C G C TUEA(T)} and
|Prim=Y(T)| = 2°2(1),
Proof. From the observation, we know that if e is not externally active, then there exists ¢/ € T U e such
that €’ is in the cycle of T U e, and e < €, thus e should be chosen by the Prim’s algorithm before it chose
e, contradiction. Thus, Prim(G) =T iff G\T C FA(T), which implies G C TU EA(T). And it is trivial to
see that T'C G. Also, there are 2°*(T) choices to including e on construction of G € Prim~'(T). O

In the corollary below, ¢ is dummy variables to show combinatorial relationship.
Corollary 2.21. Fiz T be a tree on [n]. Then,

ea(T)

IBG)| _ n-1. S| _ -1, ea(T)\ ) _ 1 1 + gyea(®
> g q > d¥l=g¢ > < o )d" | =a" T g

G on [n] G=TUS k=0
Prim(G)=T SCEA(T)

Note that the third equality can be derived from the fact that for each k € [ea(T)], there are (°*}")) sets

having cardinal k. Therefore,
Z g FGN = gn—1. Z (14 ¢)e™,

G is connected, T is spanning
simple on [n] tree on [n]

Remark 2.22. 1. In the viewpoint of each connected simple graph G,

Z q\E(H)\ _ qn—l Z (1 + q)ea(T).

HCG T is spanning
H is spanning tree of G
subgraph of G

Note that each partition of H, which is in the same inverse image of Prim(-) gives a one element of
the sum.

2. Given T, a spanning tree of G, fix a linear order on edge of G. Now define internally active vertices
as below;

Definition 2.23 (Internally active vertices). Let T' be a tree on [n] with E(T) C (}), where (%) is the
set of all 2-subset of [n], having a lexicographical order. Then Ye € E(T), T — e is a forest with two
connected components, say T, 1 UT, 2. Now we can define the cut, as

n

cut, = {e' € (2) 2NV (Teq) # 0, NV (T, 2 # 0},
the set of edges connecting T, 1 and Te 5 if they added. From the order of (g), we can take the minimal
weight edges in cute, SaY €min- Then emin 15 called internally active with respect to T'. Denote
TA(T) := { internally active edges of T},ia(T) := [TA(T)].
And this internally active edges are used for define Tutte polynomial, which we will deal later.
Definition 2.24 (Tutte polynomial of 2 variables).
Ta(X,Y) = Z Xxia(T)yeaT)

T is spanning

tree of G
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2.3.2 Depth first search and Breadth first search
DFS and BFS can be used to get a spanning tree.
Definition 2.25 (Depth First search). 1. Input: G on [n).
2. Start at the minimum vertex 1
3. Go to the great adjacent unvisited vertex if there is one.
4. Otherwise back track and repeat the above.
5. Output: T on [n].

For example, think about below graph

In this graph, DFS gives edges such that 1 — 5,5 — 6,6 — 7 first, and back track once, and gives 6 — 3,
back track, 6 — 2, 2 — 4. Thus, the resulted tree is as below.

O—O——0@

Thus, we can think DF'S as a map such that
DFS : { connected graph on [n]} — T, := { trees on [n]}.

Fix T € T,. Then, if DFS(H) =T, then T C H. In the previous example, adding 12, 13, 14 keep the result
of DF'S, however, neither does 1617. From this, we can observe that

Observation 2.26. An edge {j,k} with j > k, can be added back <= The unique path from j to k is
contained in the path 1 to k and i > k where i is the first vertex on the unique path from j to k.

To formalize this observation, we need some definition.

Definition 2.27 (Inversion). Let T be a tree on [n]. Then, a pair (i,k) is an inversion of T if and only if i
is on the path from 1 to k and i > k.

Theorem 2.28 (Gessel, Wang [2]). DFS™Y(T) = [T, T U&(T)] where E(T) is a set of edges which has 1-1
corresponding to set of inversions, such that (i,k) — {j,k} where j is the predecessor of i in the path from
1 to k.

Proof. Let G € [T, T UE(T)]. Then G = SUT for some edges S C E(T). Then, Prim(G) = T} first of all,
first vertex is 1 by the definition of algorithm. And suppose the algorithm choose vy, va, - -+ , vk, the first k
vertices the same as T. Then, note that Ve € S with {ugvi} = e, ur < vg41; if up < vg, then the unique
path from vg to ug in T is contained in the unique path from 1 to ug, and wy is the first vertex of the
path from vy to ug such that vy < wg, by the construction of £(T). (See observation.) Hence, wy = vg41
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since vywy € E(T), and ug < vgy1. This implies that e cannot be chosen. If ujy > v, then the unique path
from wuy to vg in T is contained in the unique path from 1 to vy, thus ux € {v; = 1,va,- -+ ,vi}, since we
already construct the path from 1 to vy in T'. Hence, e cannot be chosen. Therefore, in any case, ur < vgy1.
Conversely, if v1,vs,- -+ , v are the first k vertices visited, then in order to go to vi41 in the next step, vy
must not be connected to any unvisited vertex u such that u > vg41. Thus, vg41 will be chosen. O]

Corollary 2.29. Fix T. Then,

[E(T)]

|E(H)| _ n—1 S| _ n—1 EMN k) _ l£(T)|
Y g q stq q > ( , )| =T gL

HEeDFS—1(T) Ség(UT) k=0

as the same reason in the case of Prim’s algorithm. Thus,

Z qIE(H)I =q¢"! Z 1+ q)IE(T)\_

H is connected T is tree on [n]
component on [n]

DF'S defines two orderings on the (unlabeled) vertices.

Definition 2.30 (Preorder and postorder). Preorder is the order induced from the vertices have been
visited for the first time. Postorder is the order that the vertices have been visited for the last time.

To understand ordering example, see below picture; we visited graph from left to right using DFS.

0 1 12
0 0 O 2 7 9 5 7T 11
/NN /N /N
0 0 00O 3 4 8 10 11 1 4 6 8 10
AN /\ | AN
0 0 0 5 6 12 2 3 9
(a) Unlabeled graph (b) Preorder (c) Postorder

Definition 2.31 (Breadth-First search). Breadth-First search is an algorithm making a spanning tree as
follow.

1. Input: G on [n].
2. Start at v1 = 1.

3. At each k-th time, adding all unvisited neighbors of vp_1 to Q, which is first in first out, adding from
left to right. Then let vi be the output of Q, and delete it from Q.

4. Stop when @ is empty.

For example in the below tree,
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BFS is as below;

v;  Queue
4,5
5,2
2,6

3,7

BN = G SO JUR R S e RS
N W O N O s
=2

We can also think BF'S as the map such that
BFS : { connected graph on [n]} — Ty, := { trees on [n]}.

Fix T and we can find the analogous statement for the inverse image of 7'

Theorem 2.32.
BFS™(T) = [T, T UEp(T))

where
Ep(T) = {(i,j) € (Z) :1,J have been in Q at the same time.}

Proof. Note that (i,7) is in Eg(T'), then it means that ¢ and j are chosen as a neighbor of other vertices.
Thus, including (¢, j) doesn’t change the decision by BFS, since output of @ is the same even (i, j) exists or
not. Conversely, if adding an edge (i,j) to T doesn’t change the decision of BFS, then this edge fail to give
new neighbors to the @, which implies that @) has already a state that 7,5 are in Q. O

We can compute the distance of u,v using BFS.
Definition 2.33 (Algorithm for d(u,v).). 1. Start at u. Let d(u,u) = 0.
2. Do BFS.

3. If a vertex v is introduced to the queue by a vertex w, then let d(v) = d(w) + 1.

2.4 Dijkstra’s algorithm

Consider a weighted graph G, where each edge e has a nonnegative weight. Can we find the minimal weight
uv-path for any u,v € V(G)? We can find the path using Dijkstra’s algorithm.

Definition 2.34 (Dijkstra’s algorithm). 1. Put U = {u}, F = 0, Dy(u,u) = 0, where D,, is the weight
distance.

2. While there exists edges connecting u and V(G) — u, determine an edge a = {x,y} withx € U,y ¢ U
and D, (x) + w(a) minimal.

3. Then, update U as U U {y}, F as FU{a}, Dy(y) as Dy(x) + w(a).

2.5 Plane graph

In the labeled graph, we can distinguish some graphs, even if it has the same as graph isomorphism; for
example,2 — 1 — 3 and 3 — 1 — 2 is the same tree, but it is distinguishable with 1 — 2 — 3. To make this
distinction clear, we can adopt the definition of plane tree. To define this precisely, we need some other
concepts.
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Definition 2.35 (Rooted tree and Plane tree, [3] p.101). A rooted tree is a tree with one vertex r chosen
as root. For each vertex v, let P(v) be the unique vr-path. The parent of v is its neighbor on P(v); its
children are its other neighbors. Its ancestors are the vertices of P(v) —v. Its descendants are the
vertices u such that P(u) contains v. The leaves are the vertices with no children. A rooted plane tree
is a rooted tree such that ther e is a linear order on the children of each vertex.

Note that from the definition of plane tree, 2 — 1 — 3 is not the same as 3 — 1 — 2, since children of 1 has
distinct linear order. We can define plane tree using recurrence relation.

Definition 2.36 (A recurrence definition of plane tree). Define § and a vertex without edge are in a plane
tree. If Th, Ty, -+ , T} are plane tree such that V(Ty),---V(T}) are pairwise disjoint, then Ule T,Ue =
{z;,v}, where x; € V(T;), v & Ule V(T;).

The last condition can be represented as the below picture;

And binary tree is the special kind of plane tree.

Definition 2.37 (Complete binary tree). A complete binary tree is a plane tree such that each vertex
has 0 or 2 children. Then we can call vertices having degree at least 2, i.e., which are not in a set of leaves
as internal vertices.

Note that there are 5 types of complete binary tree with 3 internal number of vertices (represented as ).

AN DA
AL AT A A
A\ ATA

Thus,

Proposition 2.38. A complete binary tree has m internal vertices, then it has 2m + 1 vertices, and m + 1
leaves.

Proof. Every internal vertex has 2 children vertices, for a total of 2m vertices. Every vertex except the root
has a parent, for a total of m — 1 internal vertices with parents. These m — 1 parented nodes are all children,
and each takes up 1 child vertex. Thus,

(Children vetices) — (used child pointers) = (unused child pointers) <= 2m — (m—1)=m+1
Thus, there are m + 1 leaves. [

Proposition 2.39. If given internal vertices as n, the number of complete binary trees with n internal
vertices 1S
1 2n
Cc,, =
" n+1\n)

Proof. Tt can be derived by one-to-one correspondence of complete binary tree and well-parenthesized prod-
uct. I will refill this part after the semester. O

where ¢, is the Catalan number.
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Thus if n = 3, n%rl (2:) = i% = 5. To see this proof, we need a proper labeling of the internal vertices.
For binary tree with exactly n internal vertices, label the vertices by [n], thus there are n! labelings. However,
we adopt increasing labeling, which is a labeling satisfying a condition; for any vertex u in the tree, which
is a parent of a vertex v, then label of u is less than the label of v. Then we can convert such n! sequences
from [n] to the complete binary tree. To see this, for given a sequence {a;}? ; from [n], we can construct

the rooted tree, which is bone of the complete binary tree as this algorithm.

1. Put 1 on the middle point. Without loss of generalization, let a; = 1, for some k € [n]. Then, we can
divide the sequence as A; := {a1, - -ax—1} and Ay := {ag41, - an}-

2. For second step, take the smallest number from A; and As, say by, b2, and let b; be a left child of 1,
and bo be a right child of 1. If one of the set is empty, then just ignore. Again, partition A; and As if
it is nonempty, say Alla A12 and Agh A22

3. Repeat above procedure; in the given partition, generated by the previous level’s vertex, give the
smallest number for each partition as a left child or right child of the previous level’s vertex respectively.
And partition again using the chosen smallest numbers.

4. If there are no remaining number, then gives a child for each leaves to make the complete binary tree.

For example, 451632 is
1

N

4

/\

6 0

Now fix a complete binary tree with n internal vertices. How many increasing labelings are there?

Theorem 2.40. The number of increasing labeling on T is Hni!hv where h,, is the hook length of vertex
veT v
v, means that the number of vertices in the subtree rooted at v.

In the above example,h; = 6,ho =3,h3 =2, hy =2,hs =1, hg = 1.

Proof of the theorem. There are n! ways to label the vertices of compelete binary tree with n internal vertices
from [n]. For any v € T, where T is given complete binary tree with n internal vertices from [n], let A, be
a event that v is the minimal in the subtree which has root at v. Then,

since we can think of it as assigning every other vertices in the complement of the subtree first; then the
rest vertex is h,, now we can choose label of v as minimal number in A, numbers. And note that A,’s are
independent to each other; thus,

P(labeling is an increasing) = P(A,, -+ A,,) = H(A”) = H hi

=1 i=1 K

Hence, the number of labeling is nni'h O

i=1""Y4
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3 Matchings and Factors

3.1 Basic matchings
Suppose G has no loops.

Definition 3.1 (Matching, saturated vertex). A matching M is a set of (non-loop) edges that are pairwise
disjoint. If vertex v is incident to edge in M, say v is saturated by M. Also, M is called perfect matching
if it saturates all vertices.

Definition 3.2 (Maximal matching, maximum matching). 4 maximal matching M is a matching M
such that M U {e} is not a matching for any e € E(G). A maximum matching is a matching M in G of
the largest size.

For example, the red edges and blue edges in below figure forms maximal matchings respectively; however,
the red edges are the maximum matching.

NN\

Definition 3.3. Given a matching M, an M-alternating path is a path that alternates between edges in M
and edges not in M. An M -alternating path whose endpoints are unsaturated by M is an M-augmenting
path.

Thus, if there exists a M-augmenting path P, then we can get new matching by replace edges in M N P
with edges in M€ N P; and this matching is consists of other edges in M N P¢, since every vertices in P
except the endpoints are already saturated; Therefore, M is not maximum, if there exists a M-augmenting
path. Our question is to find maximum matching in the graph.

Theorem 3.4. M is mazimum matching in G if and only if it has no M -augment path.

Proof. only if part is already proved in previous paragraph. Thus, Suppose M is not maximum matching.
Thus, there exists M’ which is larger than M. Consider edges in MAM’, which is symmetric difference
on M and M’. Then by the below lemma, MAM' has only cycle or paths. Since M’ is larger than M,
M’ should have more (unique) edges then those of M, thus MAM’ should contain a path. This path is
M-augmenting path. O

Lemma 3.5. Any two matching M and M', MAM' consists of cycles and paths.

Proof. Let F' = MAM’. Since M and M’ are matching, every vertex in F' has at most two edges. Thus,
A(F) < 2, therefore F is cycle or paths. Furthermore, if F has a path, then it is alternates between M \ M’
and M’ \ M. Thus each cycle in F has even length. O

Then, we can ask how to find such maximum M by looking M-augmenting path. To see this, we need a
definition of vertex cover

Definition 3.6 (Vertex cover). Let C be a subset of V(G) such that Ve € G, e has at least one endpoint in
C. Then C is called vertex cover.

For example, the star has singleton set as a vertex cover. So, we can define minimal vertex cover and
minimum vertex cover as follow.

Definition 3.7 (Minimal vertex cover). A minimal vertex cover C is a vertex cover C' such that C\ {v}
is not a vertex cover for any v € C. A minimum wvertezx cover is a vertex cover C in G of the smallest size.

Then we can observe below;

Observation 3.8. For any vertex cover C, and any matching M, |C| > |M]|
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Proof. Even if M is perfect matching, M covers two vertices in G by one edge. Thus if C' is a vertex cover,
then for any edge in M, a one endpoint should be in C. Also, since M is set of disjoint edges, such vertex
is not repeated. Hence |C| > |M]|. O

Form this observation, we can conclude that
min |(vertex cover)| > max |(matching)]|.

We can use this fact to find the augmenting path.

Definition 3.9 (Augmenting path algorithm). Input is (G, M), where G, a bipartite graph. and M, a
matching M on G. Our goal: to find the M-augmenting path. Steps are below.

(0) Begin by labeling with (%) for all the vertices in X that is unsaturated. In this time, every vertices are
not scanned. The meaning of scanned is in the step (2).

(1) If in the previous step no more label has been given to any vertez in X, then stop. Otherwise, go to (2)
(2) While 3 labeled unscanned vertice in X, do

(a) take such a vertex x;,
(b) scan x; by Yy €Y, if x; ~y,{xi,y} € M and y has no label. Then label it by (z;.).

(3) If in step (2), no new label has been given to anything in'Y , stop. Otherwise, go to step (4).

(4) While there exists a labeled unscanned vertices in'Y, take such a y;, scan it by, for allx € X, {z,y} € M
and x has no label. Then label this x by (y;). If there are no labeled but unscanned vertices, then go to

(1).

After completing this procedure, we can get the M -augmenting path by start from the minimal labeled but
unscanned edge in'Y (if you stopped at step (2)) or in X (if you stopped at step (4)), and follow the label.

For example, let’s think about the below example. In this example, a matching M is represented by the
red line.

x1 Y1
x2 Y2
T3 Y3
T4 Ya
x5 Ys
T6 Ye
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By the first step, we can label unsaturated vertices as (x).

() z1 Y1
T2 Y2
x3 Y3
T4 Ya

(*) s Ys

() s Yo

Note that definitely there are some vertices we can label it. Thus we can go to step (2). Note that the
labeled unscanned vertices are x1, x5 and xg. In this case, by scanning x1, we can label y3 by (z1), and by

scanning x5, we can label y4 as (x5). g has no such vertices in Y since x5 labeled the possible vertex, yq.
Thus,

(x) 71 Y1
To Y2
x3 Y3 (1)
T4 Y4 (x5)
(%) @s Ys
() e Y6

Now we can go through step 3 and step 4. In this case, y3 and y, are the labeled unscanned vertices

in Y. Thus, by scanning ys, we can label x3 as (y3) and by scanning y4, we can label x4 as (y4) since
{w3,y3} € E(M),{z4,ys} € E(M). Thus we get

(x) 1 n

2 i
(ys) 23 ys (z1)
(ya) %4 Ya (w5)
(%) =5 Ys
(x) Zo Yo

Now, go to step (2) and we know that the labeled unscanned vertices are xs, x4, thus by scanning them we
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can label y as (23). And from step 4, we can label x5 as (y2), as below.

(x) @1 o
(y2) 22 Y2 (z3)
(y3) =3 Y3 (1)
(ya) 4 Y4 (z5)
(%) s ys
(x) e Yo

Now the only labeled unscanned vertex is x5, thus we can label y1, ys, ys as (z2). This complete the procedure.

(%) 1 Y1 (22)

(y2) 2 Y2 (3)
(y3) @3 Y3 (1)
(ya) T4 Ya (ws)
(%) @5 Ys (z2)
(%) ws Yo (x2)

In this case, we stopped at step (2), thus and the minimal unscanned vertex in Y is y;. By following the
label, we have the path

Y1 — T2 — Y2 — T3 — Y3 — Ty,
which is an M-augment path. We call this case as break-through case.

However, it would fail for some matching; for example, below is the same graph with different matching

M’ represented as blue. In this case, we cannot do anything after labeling 1 as (y3). We call this case as
non-break-through case.

(y3) x1 7

o Y2

x3 Y3 (4)
(ya) T4 Ya (ws)
(*) @s Ys
(*) 6 Yo

To analyze what happens in the above, let S = Xunlabeledjylabeled Ty the above example, S = {9, 73} U
{y3,v4}. In the previous example, S =Y. Then,
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Claim 3.10. If this is break-through case or non-break-through cases, S is a vertex cover. If it is a non-
break-through case, and if M is mazimal matching, then |S| < |E(M)].

Proof. To see why the S is a vertex cover, it suffices to show that there are no edges between X'2Peled and
yunlabeled “Thep  every edge should contain a point in Xunlabeled j ylabeled “thys § is a vertex cover, by
definition.

To get a contradiction, suppose not; there exists e such that e C Xlabeled (jyunlabeled "gav o — 29/ and
x € Xlabeled ¢ yunlabeled Tf 5 Jabel of z is (*), then e ¢ M, thus y should receive a label by the step 2
of the procedure of finding augmenting path algorithm, contradiction. If a label of x is (y;) for some i € N,
then there are two cases; if e € M, then there are another ¢/ € M such that ¢’ = zy;. In this case, the step
2 of the procedure makes y be labeled, contradiction. If e € M, then y; = y, thus y cannot be unlabeled,
otherwise x cannot be labeled, contradiction. Thus, in any case, such e cannot exists.

To see |S| < |M]|, note that for any e € M, there are only three cases; e connects labeled = and labeled
y; in this case, | S| count only one vertex for e. The other case is e connects unlabeled x with unlabeled y; in
this case, |S| cannot count such e. The last case is when e connects unlabeled x with labeled y; however, in
this case, since e is from M, the procedure labeled x, contradiction. Hence, in any case, |S| counts less than
| M| for each edge. Also note that a labeled y from the (x)-labeled x should be a vertex in M; otherwise, we
can have a new matching M + xy, contradicting to the maximality of M. Also, a unlabeled x should be a
vertex in M, by step 1. Hence, we only consider a vertices in M to count |S|. Therefore, |S| < |M]|. O

Theorem 3.11 (Koénig). If G is bipartite, let C(G) := the cardinal of minimal vertex cover, and ¢(G) :=
the cardinal of mazimal matching. Then, C(G) = ¢(G).

Proof. Let M be a maximum matching. It suffices to generate a vertex cover C' having size of |E(M)|,
from the above lemma that |C| > |E(M)| for any vertex cover C. Let G = (X UY,E), ie, X =Y
bipartite, where X is in left side, Y is in right side. Then, U = X\ M, Z = {v € X UY : v €
U or v is connected to a vertex in U with M-alternating path}. Let

K=X\ZUu(YnZz).

Now suppose e € E. Then e may belong to an M-alternating paths from U or not. If it is belong to an
M-alternating path from U, then the right endpoint of e, e MY, is reachable from U by an M-alternating
path, so it should be in Y N Z. Otherwise, if e is not in any M-alternating path connecting U, there are two
cases occur; if e € M, then its left endpoint ( point in e N X) should not be in alternating path connecting
U, otherwise such path plus e gives another alternating path connecting U containing e. Hence, the left end
of e should be in X \ Z. Or if e is not in M, then still, e’s left endpoint should not be in any M-alternating
path connecting U, otherwise we can also extension of M-alternating path. (Note that in each case, actually
M-alternating path occurs with direction, so be careful about deriving the conclusion.) Thus, in any case,
the leftend of e should be in X \ Z. Hence, K is a vertex cover of G.

Now note that X \ Z is contained in X \ U, so they are vertices in X. And, Y N Z is also should be in M;
to see this, suppose that there existed an M-alternating path from U to an unmatched vertex in Y NZ. Then
changing the matching by removing the matched edges from this path and adding the unmatched edges in
their place would increase the size of the matching, contradiction. However, as we shown above, no matched
edge can have both ends staying in K, as we have shown above. So, K has a cardinality |E(M)|. O

Corollary 3.12. If G is a bipartite and p-regular with p > 1, then G has a perfect matching.

Proof of the corollary. Assume the bipartition is X WY. Then, p|Y| = |E(G)| = p|X| implies | X| = |Y|. Say
|X| = 1Y| =n. Now assume that C is a vertex cover, then p-regularity implies Vv € C, and VC' vertex cover,
|E(G)| < p|C|. Thus, pn < p|C| = n < |C|. Also, we know that there exists a C' such that |C| = n by
the Konig theorem. Thus, by the theorem, there exists M such that min|C| = n = max|M|, hence the M
is perfect. O

Let Y be a finite set. Let a = {41, Ay, -+ , A, } is a family of subsets of Y, with 4; # () for any i € [n].
Then,
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Definition 3.13 (System of distinct representatives). An ordered set of elements (e1,ea,--- ,ep),e; €Y for
any i € [n], is called System of distinct representatives of a if all e;’s are distinct and e; € A; for all
i€ [n].

Note that the easy necessary condition to have SDR is below; for all subsets of a of size k, the union is
at least of size k, i.e.,
Vk e NU{0},|A;, U---UA,, | > k.

In graph theory, let G = (X UY,E), where X =aand Y =Y, and F = {(A;,v) : A; € X,v e Y,v € A;}.
Then, there exists SDR if and only if there exists a matching that saturates X. (By definition of mathcing,
SDR and gives such matching and vice versa.)

Then we call that Hall’s condition for

VS C X IN(S)| = [5],
where N(S) means the neighbor of S, and we can rewrite the Hall’s marriage theorem as below;

Theorem 3.14 (Hall’s marriage Theorem). A bipartite graph G = (X UY, E) has a matching that saturates
X, if and only if VS C X, |IN(S)| > |S|.

if part. Suppose the Hall’s condition holds. If we assume that |X| = n. Then, by taking S = |X]|, |Y]| > n
since N(S) C Y. Now it suffices to show that for any vertex cover C, |C| > n, from the Konig’ theorem, we
can create matching with size n, which implies it generates saturation of X. Note that C'is a vertex cover of G
if and only if V(G)—C is an independent set. Now take any vertex cover C. Thenlet X; = CNX,Y; = CnNY,
Xy =X\ X1,Y2 =Y\ Yy. Assume |C] < n, ie., |Xi|+ |Y1] < n. We know no edge exists between X5 and
Y5, since C' is a vertex cover. Hence a subgraph from vertices Xo U Y5 has no edges, so

N(Xz) €Y1 = [N(X2)| < | <n—|X3] = [Xo]
where the last equality comes from |X| = n, which implies
| Xa| > [N(Xs)|
contradicting the Hall’s condition. O

Only if part, from E. Easterfield, Halmos, and Vanghan. This is induction on |X| = n. If n = 1, then this
is a graph without edge or graph with only one edge. So if there exists a matching that saturates X, then
IN(X)| > 1=|X|, so done.

Now assume that there exists saturation matching for all sub-bipartite graph of G having less than n
elements of X, and let | X| =n for given graph G.

e Case 1: VS C X, S # 0, suppose |S| < |N(S)|. Then, for any = € X,
XA\ {2} < [IN(X\{z})] = [X]=[X\{z}|+ 1 < [N(X\ {z})] < [N(X)]
since N(X) contains N(X \ {z}), done. So every subset of S satisfy the Hall’s condition.

e Case 2: If there exists a nonempty subset K of X such that |[K| = |N(K)|, then G|k nk) has a
matching by induction. Solook at G'a = G/(xe N (k)e Where o¢ is a complement of a set. Now we want to
show that Go satisfy the Hall’s condition, then from disjointness, | X| = |K|+|K¢| < |N(K)|+|N(K°)|.

Now note that for all T' C K¢,
[Ne(TUK)| > |TUK|=|T|+[K]|
by the inductive hypothesis, And note that
Ne, (T) = No(T U K) = N(K) = Na(T) - N(K)
as a setminus. So,
INeo(T)| = [Na(T U K)| = [Na(K)| = |[T| + |K| — |[Na(K)| = [T].

So done.
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Corollary 3.15. If Vo € X, deg(x) > k then the number of matchings saturating X is greater than k!.

Proof. Index X 22 [n]. Then if Case 1 in the above proof holds, then for 1 € X it has k choices. Now choose
one of them and delete 1 and its incidence vertex. Then the reamaining one has at least & — 1 choices, so
we can take an edge from it and delete it. Repeat this until having matching done, so we have at least k!
matchings.

If Case 2 in the above holds, then 35 C X such that [S| = [N(S5)|. Now think about G|g n(s). Then
from the condition, G|g n(s) still has mindeg(S) > k where deg(S) = {deg(x) : x € S}. So by the induction,
there exists k! matchings. Then, if we denote M (S) be a set of vertices correspond to a specfic matching,
then G|ge n(se)\m(s) has also a matching, and the union of the specific matching for S and S¢ is a matching
in GG, so done. O

Corollary 3.16. If the degree of vertices in X are miy < mo < --- < m,, then the number of matchings

saturating X is greater than or equal to my(mg — 1)(mg — 2) -+ (my —n +1).
Proof. Actually, do the same thing using those m,. O

Lemma 3.17 (Rado’s lemma). Let G = (X UY,E) satisfies the Hall condition with respect to X. If
{z,y1},{x,y2} are two edges of G, then at least one of G1 = G — {z,11},G2 = G — {x,y2} still satisfies
Hall’s condition.

If we have this lemma, then we can start with the assumption that every vertex has degree 1.

Proof. To get a contradiction, assume both G, G2 do not satisfies Hall’s condition. Then, 37 C X \ {z}
such that

1Z] <INa(2)],12] < [N, (2)] but |Z U{z}| > [Ne, (Z U{z})| = [Ne, (Z) U Na, (2)].
Thus,
1Zl+1=[ZU{z}| > [Ng,(ZU{z})| 2 [Ne,(Z)| = |Z] = [N, (ZU{z})[ = [Ne,(2)| = |Z]
This implies y2 € Ng(Z),y1 € Ng(Z). Similarly, in Gy 3W C X \ {z} such that
[W| = [Na(W)| = [Ne,(W)|
and y; € Ng(W),y2 &€ Ng(W). This implies
Ne(x) \{y2} € Na(W), No, (W U {z}) = Ng(W).

Now

1Z| + W[ = |N(Z)| + [NW)| = [Ng, (ZU{z})| + [Na, (Z U {z})].
Note that |Z| = |[N(Z2)|,|W| = |N(W)| derived from above inequalities, and the last equality comes from
above equations. Let T = Ng, (Z U {x}),To = Ng,(W U {x}). Then,

Tl UT2 = NG(ZUWU{Z’})

since Y2 € Ng(Z) = N, (Z),11 € Na(W) = Ng, (W), so they are actually stay in Ng(Z U W U {z}), and
any other points in T; is already in Ng(Z U W U{z}), so Ty UTs C Ng(Z UW U {x}). For other direction,
if y € Nog(ZUW U{z}), then if it has an edge with Z, it is in 77, if it has edge with W, it is in 75, if it has
edge with x, then if y # y; or yo, it is still in T U Ts, and if it is one of y1, y2, then by the same argument
it is in the T3y or T5.
Also,
T. NTy = Na(Z) N Na(W) C N(ZNW)

from the equation Ng,(Z) = Ng(Z), Ng,(W) = Ng(W) we derived above. Hence,

TiNTe| = [N(ZNY)| 2 |ZNY|
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from the Hall’s condition. And,
[Ty UTs| = |[Neg(ZUWU{z})| > |ZUWU{a}| > |ZUY U{z}|=|ZUY|+1
from the Hall’s condition. Thus,
[Z|+ Y] =Ti|+ |l =T UL+ | ThNTh > |ZUW|+1|ZnW|=|Z]+ Y|+ 1
contradiction. O

Corollary 3.18. Let a = {Ay,---,A,} be a set system, i.c., set of subsets of Y. Then, the largest number
of sets in a with an SDR is
n 4+ min{|U;es A;| — S| : S C [n]}.

And by the Hall’ condition, min{|U;esA;| — S| : S C [n]} = 0.
Proof. Let
—d = min{|Ujes 4;| — |5 : S C [n]}.

Let G = (aUY, E) be a graph generated in previous construction. Then, let G’ be a graph adding d more
points on Y, and adding edges from every point in a to every newly added points. This gives for any S C a
with nonempty,

|NG: ()] = [Na(S)| +d.

Thus, G’ satisfies the Hall’s condition, thus G’ has an SDR of size n. Now remove points of SDR from newly
added points, then it has at least an SDR with size n — d. O

Now we can prove the Konig’s theorem, stating that if G is bipartite, let C(G) := the cardinal of minimal
vertex cover, and ¢(G) := the cardinal of maximal matching. Then, C(G) = ¢(G).

Proof. Suppose G = (X UY, E) bipartite. If Q is a vertex cover and M is a matching, then |Q| > |M]| since
distinct vertices must be used for cover the edges of matching. (If one vertex cover two edges in M, then
M is not a matching.) Given the @ with size C(G), we always construct a matching having C(G) as its
cardinality. Let

R=QnNX,T=QNY,H=Glpuy-1.H = G|x_rur-

Since RUT is a vertex cover, G has no edge from Y — T to X — R.

3.2 Independent sets and edge covers

Recall terminology we discussed;

o (G) = M(
(G) =Cu(G

Q

) := size of maximum matching

B = ) := size of minimum vertex cover
a(@G) := size of maximum independent set

BI(G) = Ce(G) :

= size of minimum edge cover

Definition 3.19 (Edge cover). An edge coveer is S C E(G) such that any vertex is incident to at least one
edge in S.

The existence of edge cover implies that G has no isolated vertices. Also, it is observed earlier in our
discussion that
Cu(G) = M(G).

And it is tie in the bipartite group. And from the fact that C is a vetex cover if and only if V(G) \ C is an
independent set, we know
a(G) + Cy(G) =n = [V(G)].
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Claim 3.20.

for G is of isolated vertex free.
To show this claim, we need a theorem,;
Theorem 3.21. If G is isolated vertex free, then M(G) + C.(G) = n.

If we have this theorem then
n—M(G)>n—Cy(G)=a(G) = n>MG)+a(G)=n—-C.(G) + a(G) = C.(G) > a(G).

Proof. Let M be a maximum matching. It suffices to show that we can have an edge cover of size n — |M]|.
It proves C.(G) + M(G) < n. Note that M already cover a 2|M| vertices, where |M| := |E(M)|. For the
remaining n — 2| M| vertices, pick one edge for each in remaining edges. Then, the number of chosen edges
with edges in M is

n—2\M|+|M|=n-—|M]|

and it covers all vertices, so done.

Conversely, let L be a minimum edge cover. We will construct a matching of size n — |L|. This shows
M(G) > n—|L| = n — C(G). From the minimality of L, we claim that a subgraph G’ = (V, L) does not
contain any path of length 3. To see this, if it contain such path, say (e — e — e — @), then by deleting the
middle edge we have an edge cover which is smaller than the existing cover, contradicting minimality. So,
G’ is just disjoin union of star-shape graphs, i.e., a connected graph having maximum path length is 2. (So
it has a center.) Now let P be the number of connected component of G’. Then,

|IL|+ P=n

since each component has k vertices with k—1 edges, and | L| represents all number of edges in all component,
so P represents all centers in each connected component. Thus, let M be a matching generated by choosing
one edge from each component. Then, |M|= P =n — |L|, as we desired. O

Corollary 3.22. If G is isolated vertex free, and bipartite, then a(G) = Ce(G).
Proof. Apply Konig’s theorem. O
Definition 3.23 (Dominating Set). Let G = (V,E), v € V. For oall X CV, define
N(X)={u:3zx e X s.t. ux € E}, N[X] = X UN(X).
Then, we call a subset X of V is dominating set if N[ X]|=V.
Our goal is to find the most smaller dominating set. Let
v(G) := domination number = minimum size of dominating set.

If G has no isolated vertices, then any vertex cover is dominating, which implies C,(G) > v(G). Let ¢ be
the minimal degree of a vertex in G, and A be the maximal degree of that in G. Then,

Theorem 3.24.

n n
— < <
i G

For v(G) < 535 (1 +In(n + 1)), we need a lemma.

(1+ In(n + 1)).

Lemma 3.25. Given X C V,Yx =V — N[X], there exists a vertex y ¢ X such that y dominates at least
Vx| 2L de., connected to at least |Yx|- S many vertices. Especially, if |Yx| = k, then

n ’ n

VNGl <k (1- 25
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Proof. For each v € Yx, list N[v]. Then clearly, |[N[v]| > § + 1 by definition of §, minimum degree of a
vertex in GG. Hence,

D N[ = (6 +1)|Yx].

vEYx

Now thinking about whole lists of N[v], for each v € Yx allowing repeatition. Then, those are all vertices
in V — X. (If there exists a vertex in X, then v ¢ Yx =V — N[X], contradiction.) Thus, by the Pigeonhole

principle, there exists a vertex y who appears at least % sets of N[v], which implies

(5 1)|)X| (5 1)|)X|
d > > .
eg(y) = [V -X| — n

Thus, [V — N[X U{y}]| < |[Yx| - S — j (1 - 251) -

n

Proof of the theorem. For i < v(G), just a form an independent set by taking a vertex, deleting every
vertex of neighbors, and taking a vertex from remainings, and so on. For each selection, we delete at most
A + 1 vertices including chosen one. Thus, |S]| should be greater than n/(A + 1).

For v(G) < 535 (1 +In(n+1)), build a dominating set in a greedy way. Start with a vertex of maximum
degree. Each round add a new vertex y that increases N[X U {y}]. Then, after r round, the reamining
undominated vetices are at most

( §+1 ) g
n|l—
n

Thus, after 2O 4he number of undominated vertices is at most

o+1
In(5+41)
S+ 1\" oFt o41 ”% n
1—— <n (e n ) -
n o+1
from the inequality (1 —€) < e for all € € R; to see this note that

x4 exp(—x) > 1.

This can be shown easily for |z| > 1. For —1 < z < 0, use the fact that |de

use the fact (z +e )" > 0.
Now define a set D consisting of chosen vertices and remaining undominated vertices. Then, the number

| >2'=1land for 0 <z <1,

of chosen vertices are at most nlng‘il), and the number of
In(d +1)
D|<n——-~
Pl<n=57

There is a proof using probabilistic method.

Proof. Let X be picked randomly with Pr(v € X) = p, independent and identically distributed for v. Let
Yx =V — N[X]. Then X UYx is a dominating set. Thus,

(X UYx[ = [X[+[Yx| = E(]X cupYx|= E(|X]) + E(|Yx])

then
E(|X]) =np
since if we let X = ZUEV(G) X, where X, is a probabilistic variable having 1 if v € X,0 if v € X, then
E(Xy) =p = E(X]) =

Similarly,
E(Yx|)= Y PrwgNX])= Y (1-p)*= <n(1-p)*.

veV(G) veV(G)

34



This is because v € N[X] = v € X and any neighbor of v is not in X. Thus,
E(IX cupYx|= B(IX|) + E(|Yx]) = n(p+ (1 —p)"*").

Now choose nice number p € [0, 1] so that make the expectation as small as possible. Now we know that
from the inequality (1 —¢€) < e™¢,

E(|X cupYx| = E(|X|) + E([Yx|) = n(p+ (1 = p)**") < n(p+ (e77)°+)

so take p = 1“((;3:1), then

In(6 +1) 1
<
E(XcquX|_n( ST +5—|—1)

as desired. 0
Theorem 3.26. Let G = (V, E) be a simple graph with |V| =n, |E| = 2 for some d > 1. Then,
n
> —.
~2d

Proof. Let X be a random subset of V' by Pr(v € X) = p. For all edge in X, i.e., 2-subsets of X, remove
one vertex from X. Now define Yx be the number of edges in X. Then we will have an independent set of
size | X| — Yx. Then,

a(G)

B(X| = Yx) > B(X|) ~ E(¥x) = np—p* "o

since E(Yx) is determined by the probability that for each edge e € E. Pr(e C X) = p? from iid condition,

thus E(Yx) = pz%d. Now taking p = é, we get

3.3 Maximum Bipartite matching

Suppose G = (X UY, E) be a X — Y bipartite graph and each edge has a weight w(e) > 0. Now we want a
matching of maximum total weight

ecM

For example, if |X| < |V, then add |X| — |Y| vertices in X and give zero weighted edges from those
newly added vertices in X to every point in Y, we can assume that | X| = |Y| = n. So it suffices to deal with
complete bipartite graph case, which has a perfect matching.

Remark 3.27. if we want minimum weight matching, then just reweight the graph, i.e., w(e) — M — w(e)
for some M greater than w(e’) for all ¢’ € E.

Now we can make a representation matrix, where j-th column denote y; € Y, i-th row denote z; € X, and
(2, 7) position denotes w(x;, y;). Then a perfect matching can be represented by n entries in the representation
matrix which are all different rows and columns.

For special case, if G is unweighted, then the matrix is 0-1 matrix, and a matching gives vertex cover.
Now to deal with this problem, we should introduce weighted vertex cover.

Definition 3.28. An weighed vertex cover C = (4,0) is a pair of tuples 4 = (u1, - ,Up), T =
(v, ,vn) € R™ such that
ui +v; > w(zi, yj)-

Cost of the cover (u,v) is defined as

Cost(C) = ZUZ + Zvj.
i J
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This definition is generalization of vertex cover, since we can represent the vertex cover C of unweighted

graph as
_{1 z;€C _{1 y; €C
U; = ,Vj = .

0 o.w. 0 o.w.
Proposition 3.29. If C = (u,v) is a weighed vertex cover and M is a perfect matching, then
Cost(C) > w(M).

Proof. Note that each vertex in G covered by only one edge in M. So take a pair of vertices (z;,y;) which
is an edge of M. Then,

w(M) = Z w(zi, y;) < Z U + v = iuz +v; = Cost(C).
i=1

(x4, y;) is pair in M (x;,y;) is pair in M

O

Definition 3.30 (The equality subgraph). For given an weighted vertex cover C = (@, ), the equality
subgraph G(u, ) is a spanning subgraph of K, ,, where e € G(u,v) if and only if w(e) = u; + v;.

In the equality subgraph G(&@,7), any perfect matching of G(@,v) is a perfect matching of K, ,, since it
is spanning subgraph. Also, for any perfect matching M of G(u,v), w(M) = Cost(u,v) by construction of
G(u, ).

Using this equality subgraph, we can find a maximum weighted matching in K, ,,, called the Hungarian
Algorithm (Kuhn). Input is just weighted K, ,, with w(e) > 0 for all e € E(K,, ).

1. Start by setting (a,v) such that u; = max{w;;},v; = 0 for all 7, j € [n].

2. Leg G(u,v) be the equality subgraph with respect to 4,?. Find a maximum matching M in G(a, ).
(Actually, this can be done by excessive matrix as we describe below in the example.) If |M| = n,
i.e. perfect, then stop. Output is M Otherwise, let C' be a vertex cover of size |M| in G(u,?). Let
X1 =CnNnX, Y1 =CnNY. Now define

€= min{ui +v; —wi T € X\Xl,yj € Y\Yl}
Now decrease u; by € for all ; € X \ X1, and increase v; by € for y; € 3.
3. Repeat step 2.

For example, think about K5 5 with weighted matrix

41 6 2 3
5 0 3 7 6
2 3 4 5 8
3 4 6 3 4
4 6 5 8 6

Note that each column with index j denotes y;, each row with index ¢ denote x;. Then start with an weighted
vertex cover

u=(6,7,8,6,8),0 = (0,0,0,0,0)

as in the initialization. Then we can calculate ¢;; for each i, j so that make an excess matriz; for eamxple,
in the above,

Q)

S

I
NN RN
RO DD O =1 O
W o KO
O ww O
O =W



So G(u,v) contains an edge x;y; whose €;; = 0. So we can take a maximum matching by picking those 0
edges; in the above, take M = {x1ys3, x2y4, x3y5}. Then, since it is not perfect, take an arbitrary vertex
cover of M, say C = {x3,y3,ya}. Then, Y1 = {ys,ys}, X1 = {x3}, thus

2 5 3
27 1
€ = min =1.
3 2 2
4 2 2

By update, we have an weighted vertex cover
a = (57 67 77 57 7)?7‘7 = (0707 17 1?0)

Then, the excess matrix for this cover is

€ij =

W N O =
— = OO
W O U= O
O Wk O
—_—0 O N

So, in this case, take M as the same above, and take C, in this case just {ys,y4,ys}, then

€ = min

W N O =
— = Ol O
|
—

So by updating, we get the cover
U= (435777476)31_} = (07072723 1)

and the excess matrix

0 3 0 4 2
0 540 0
5 4 5 4 —
100 3 1
2 0 3 0 1

So, we can take a perfect maximum matching from this excessive matrix by taking M = {x1y3, T2, Y1, 3Ys5, Tay2, T5Y4 -
Then, w(M) = Cost(a,v) = 26 + 5 = 31.
There are several remarks for this algorithm.

1. G(u,v) is needed to find matching of maximal size, not maximal weight.
2. u;,v; € R are not necessarily nonnegative.
3. In each round, G(@, ) might lose edges but the size of maximum matching never drops down.

4. Cost of G(u,v) drops! Overall change of cost is

—e(|X = Xa[) + e(V1) = —e(n = [Xa]) + (V1)) = e(V1] + [Xa| = n).

5. The algorithm will stop only when |M| =n in G = (4, 7). In that case, M and (u,?) are optimal.
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3.4 Stable matching

Suppose there are n women and n men. Each womem linearly ranks men and vice versa. Now take a
matching between women and men. Then we define

Definition 3.31 (Stable matching). M is unstable if there are two couples A — a, B — b in matching but
A prefer b than a and b prefer A than B. Thus, M 1is stable if there is no unstable pair of edges.

For example, say w; has preference m; > mo, wo has preference my > my, my has preference wy > wy
and my has preference wy > wi. We can denote it as a preference ranking matrix as

(1,2) (2,2)

(2,1) (1,1
where each column ¢ denotes m;, each row j denotes wj, so each elements in (¢, j) position is just (w;’s
preference rank of m; , m;’s preference rank of w;).

then a matching
M = {wymy, wama}

is stable, but
M'" = {wyma, waym, }

is unstable, since both w; and m; prefer other partner than current partner.
Now our question is this;

e Given any ranking matrix, are there always stable matching?
e How to find stable matching if it exists?

Theorem 3.32 (Gale-Shapley Proposal Algorithm (or Deferred Acceptance Algorithm)). For all preference
ranking matriz, there exists a stable matching.

The algorithm can be described as below.
e Begin with every women marked as ‘rejected’
e While there exists a rejected woman, do the following things.

1. For each woman marked as rejected, propose the man when she ranked highest and not yet rejected
by her.

2. Each men pick out the women he ranked highest among those who proposed to him. Remove her
“rejected status,” and reject other proposals.

For example, let A, B,C, D are women, a, b, ¢,d are men and they have a preference matrix

where each column index 1, 2, 3, 4 denotes men a, b, ¢, d and each row index 1,2, 3, 4 denotes women A, B, C, D
respectively. For example, ¢’s rank toward women A, B, C, D is 2,1, 3,4 respectively, and an woman C' has
a rank toward men a,b,c,d is 2,3,4,1. (Rank 1 is better than rank 2, obviously.) Also, we denote Z — z as
an woman Z propose to z.

Then in the first round, the proposals are

A—a,B—bC—d,D— a.

Then, a rejects D, since he ranks A and D as 2 and 3, respectively.
In the second round, since D’s proposal is rejected, D proposes the second highest rank, d. Then, d reject
C since he prefer D to C.
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In the third round, C choose a, and a reject A since a prefer C. In the fourth round, A propose b. Then
b reject B, and in the fifth round, B propose a, and a reject B, and in the sixth round, B propose to ¢, and
no rejection occur. So done. So the result is

a—C,b—A,c—B,d— D.

e Why this algorithm halts? Because any women can be rejected at most n — 1 times. And men rejects
only when he has a better offer. So number of possible proposal is less than n2.

e Why is it stable? Assume not. Because of (A, b), i.e., there exists two couple A—a, B—b in the matching
such that A prefer b than a and b prefer A than B. Then, in this algorithm, A must proposed to b
earlier than A proposed to a. Thus, such matching happen only when b rejected A. This means b has
a better choice at the moment than A. So the partner of b must rank higher than A, but B is not
higher than A, contradiction.

Definition 3.33 (Optimal matching). A stable matching is optimal for a women A if A’s partner in this
matching, say a is the optimal one for her; namely, in every possible stable matching, A’s partner is a or
someone she ranked lower than a. And a stable matching is women-optimal if it is an optimal matching
for every women.

Theorem 3.34. The stable matching obtained from Deferred acceptance algorithm proposed by women is
women-optimal. Also, for any man he gets the lowsest ranked partner among all feasible ones.

Proof. We will show below claim; given any women say A, if A is rejected by a man «a in the algorithm then
a is not feasible for A. We can show it by the induction. If an women A is rejected by a man a in round k
of the algorithm, then a is not feasible to A.

In the round 1, suppose A — a, B — a. If a rejects A, then a prefer B than A. So, if there exists a stable
matching in which A — a and B —someone else, then (B, a) is unstable; since a is the highest rank choice
of B, and B is higher rank choice of a than A.

Now assume it true for k. In the next k + 1-th round, assume A is rejected by a. We need to show that
a is not feasible for A. Assume A — a is in some other stable matching M’. Then a rejects A because a has
a proposed from B where a prefer B than A. So, in the matching M’,

B—-b,A—a

for some man b. Since b is feasible for B, it means b has not reject B in the first & rounds of DAA. This
implies that at round k + 1, B already proposed to boy a but not proposed to b yet, otherwise b does not
reject B so that a having proposal from B cannot happen; Thus, B prefers a than b. Hence in M’, (B, a) is
unstable pair, contradiction. O

3.5 Matchings in general graph
Definition 3.35 (k-factor). A k-factor is a spanning k-reqular graph of a graph G.

Note that if G has perfect matching, then it is 1-factor of G, since 1-regular graph is just a set of disjoint
edges. Also note that if G has a 1-factor, then |V(G)] is even. Note that 2-regular graph is just a set of
disjoint cycles. Now define

O(G) := # of conencted component of G that have an odd order, i.e., the number of vertices in the component is odd.

Now let S be a subset of V(G). Then, we can divides G — S as a set of connected components. If G has
a 1-factor, then every odd component in G — S has a vertex connected to S; to see this, from the oddness,
the intersection of a 1-factor and the connected component, say C, gives a graph of |[V(C)| — 1 vertices,
so one left vertex should be connected to outside of the component, but since this component is closed by
connection on G — S, this vertex should be connected to vertex in S. We can summarize it as

Definition 3.36 (Tutte’s condition).

VS C V(G),0(G - S) < |S].
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From this, if we take S = (), then |V (G)] is even, as we mentioned earlier. Actually, this condition is
sufficient to make G have 1-factor.

Theorem 3.37 (Tutte). A simple graph G has an 1-factor if and only if G satisfies Tutte’s condition.

Note that adding edges increases the chance to have 1-factor Also, if G satisfies the Tutte’s condition,
then so is G + e, i.e., the graph generated by adding an edge on G.

Proof. Necessary part is already shown. For the sufficiency part, suppose the Tutte’s condition holds. If
there are an counterexample, then such G satisfies Tutte’s condition but no 1-factor of G exists. Also, adding
edge on G doesn’t increase o(G — S) since it preserves or reduces connected component. Also, if G + e has
no 1 factor, then G has no 1-factor. Thus assume that G satisfies Tutte’s condition but G has no one factor,
however, G + e has a 1-factor for any missing edge of G.

Let U = {v € V(G) : deg(v) = n — 1}, where n = |V(G)|.

e G — U consists of disjoint union of complete graphs. Still, o(G — U) < |U|, so there are even complete
subgraphs (which are disjoint with other subgraphs) and odd complete subgraphs which are connected
to U. Then we can find a 1-factor for each even complete subgraph. And for odd complete subgraphs,
from the property that deg(v) =n —1if v € U, we can assign each edge from distinct vertices of U to
distinct vertices of odd component. Now the remaining vertices are in U. And from deg(v) =n —1 for
all v € U, those are also form a clique, a complete graph. Hence it suffices to show that the number
of remaining vertices of U is even. Actually, by taking S = @), we know that n is even. And also, our
construction of matching for even complete subgraph and odd components takes only even number of
vertices, so the number of remaining vertices in U is still even, thus we can take a matching from the
clique, which is even complete graph, done.

e G — U is not a disjoint union of complete graphs. In this case, 3,2 € G — U such that dist(z,z) = 2
in G — U; otherwise, for all x,2 € G — U, dist(z,z) = 0, 1oco, which implies G — U consists of distinct
edges and distinct vertices, implies that G — U consists of disjoint complete graph, contradiction. Thus
we can suppose £ —y — z is in G — U. Also, note that y is connected to every point in U in the sense
of G, but from y ¢ U, there exists a point w € G — U such that yw is not an edge in G. So y and
w are in the distinct connected component in G — U. Then, from the assumption of G, both G + zz
and G + yw have a 1-factor, say M7 and Ms. Then xz € My, yw € Ms. Now think about the graph
F = (V(G), MiAMy;). Then, zz,yw € E(F). Since every vertex of G has a degree 1 in My or My,
every vertex of F' has a degree 0 or 2. So F' is disjoint union of cycles and isolated points. Since
My # Mo, there exists a cycle, each has even length since the edges in the cycle are alternating M; /Mo
edges. Look at the cycle C' containing edge xz. Then,

— If yw & C, then we can construct 1-factor by taking all edges in M7 not in C, and take all edges
in Ms N C; and this 1-factor clearly do not contain xz, yw, so it is 1-factor of G, contradiction.

— If yw € C, then we can take 1- factor of C' without using xz and yw; to get such a factor, think
about edges in My N C. Then it clearly do not contain zz but contain yw. Now let P; be a path
in C starting from z, ending at y without containing z. Since C'is a cycle, P; is well defined, and
the first edge in P; containing x should be in My, since C is just M; /M alternating cycle. Also
note that P;’ last edge, say a — y cannot be in Ms, otherwise a — y — w is in My, contradicting
the definition of matching. Thus, a —y € M;. Then, take M5 N P;. This captures all points in
P; except y. Now, since P; start with an edge in M5 and ending with an edge in M7, it has even
number of edges. Thus, P, = C' — P; — zz has odd number of edges, and starting from y with
yw € My and ending at z with an edge in M. Now by taking M7 N Ps, it captures all points in
Ps except y and z. Then, by taking yz which is not in M; or M, we can make an 1-factor of C,
without using xz or yw, which implies we can take 1-factor of G, contradiction.

O
Corollary 3.38 (Berge, Tutte). The largest number of vertices saturated by a matching in G is

n— Srgnv@é) d(S) where d(S) = o(G — S) —|S|.
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Proof. Given S C V(G), at most |S| edges can match vertices of S to vertices in odd component o(G — S).
so every matching has at least d(S) = o(G — S) — | S| unsaturated vertices. So the largest number of vertices
saturated by a matching is at most min{n — d(S)} = n — maxgcy(q) d(S).

Conversely, let k = max(o(G — S) — |5]). Let G’ = GV Ky, a join of two graph, which is generated by
adding edges {zy : x € V(G),y € V(K%)} on the disjoint union of G and Kj. Now if G’ has a 1-factor, say
M’ then M’ contains at most k edges connecting G and Ky, which implies that deleting those k edges from
M’ is a matching in G, and this matching saturated at least n — k vertices in G. To see this, we need to
check that G’ satisfy the Tutte’s condition.

e Case 1: S = 0. It suffices to show n(G’) is even. Note that
n = |S| + # vertices in the odd component of G — S + # vertices in the even component of G — S.

Then,
n =S|+ o(G—S) mod 2=|5| —o(G — S) mod 2

for any S C V(G). Thus, by taking S which gives k,
V(G =n+k=|S|—0o(G-S)+0o(G—S)—|S| mod 2 =0 mod2.
Thus, Tutte’s condition holds when S = 0.

e Case 2: S CV(G') and If Jv € K}, such that v ¢ S. In this case, G’ — S is connected since this v has
an edge with every point on G and Ky, thus o(G’ — S) <1 < |S| when |S]| # 0.

e Case 3: V(Kj) C S. Then let S; = S\ K. Then, G’ — S =G — Sy, so
o(G' = S) = |S1] =0o(G = S1) — |S1] <k = o(G' —S) <k+1S1| =15
where the first inequality comes from the maximality of k.

O

Corollary 3.39. Let G be a 3-reqular graph with no cut-edge, i.e., any cutting of edge cannot make G be a
separated graph. Then G has a 1-factor.

Proof. We show G satisfied the Tutte’s condition. Let S C V(G). Then let k be the number of edges between
odd components and S. Then,
k< 3|S|

from the 3-regular condition.
We want to show that if there exists at least 3 edges between each odd component in G — S and S. Then,
from the 3-regular condition,
30(G — S) < 3|9].

To see this, think about o(G — S) = k. If k = 1,2,3, then from 3-regular, the feasible |S| is 3. For any
k=3l+j,j=0,1,2, the minimal feasible |S| is 3(I + 1), so 30(G — S) < 3|S5]|.

To show there exists at least 3 edges, let H be an arbitrary odd component of G — S. Let E(H,S) be
a set of edges between H and S. If |E(H,S)| = 1, then it is a bridge, contradicting the condition that G
has no cut-edge. From 3-regular condition, we know that each vertex in H has a degree 3. So the sum of
the vertex degress of H is 3|V (H)| — |E(H,S)|. Since H is also a graph, this value should be even. Since
|[V(H)| is odd, |E(H, S)| should be odd. And we already know that |E(H,S)| # 1, so |E(H,S)| > 3. Thus,
there are at least 3 edges connecting H to S for any odd component H. O
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4 Connectivity and Path

4.1 Some facts about digraph

Remark 4.1. Remind that trail is a walk with no repeated edges.

Definition 4.2. Digraph is a graph D = (V, E) where adjacent matriz of G need not be symmetric. In
this graph, we call edge as arc, and wv = (u,v) € E means there is an arch from u to v. Thus, uv # vu.
For an arbitrary vertex u € V, Outdegree and Indegree of u is defined as follow;

Outdeg(u) := #{v € V : (u,v) € E}, Indeg(u) = #{v €V : (v,u) € E}.

So the number of edges of D 1is

|E(D)| = |E| =) indeg(v) = _ outdeg(v).

veV veV

We say a digraph D is connected if the underlying undirected graph is connected, and strongly con-
nected if Vx,y € V(D), x # y, 3 a directed path from z to y.

Proposition 4.3. A nontrivial connected D has a closed eulerian trail if and only if Vv € V(D), outdeg(v) =
indeg(v).

Note that D has a closed eulerian implies D is connected. (Note that although D is connected but D
has no Eulerian circuit; ¢ — o < e.)

Proof. Suppose D is Eulerian. but there exist a vertex v with outdeg(v) # indeg(v). If we departing at v to
follow the Eulerian path, then we must go back to v since it is closed trail. This implies that this eulerian
trail should contain the same number of outflow edges and inflow edges, since edge is not repeated in trail,
done.

Conversely, suppose every v € V(D) has the same outdegree and indegree. Now let C' be the longest trail
of D starting at v and ending at u for some v,u € V(D). We claim that it is actually a circuit, i.e., v = u.
Suppose not. then since this trail does not return to v, there exists an arc from some point w € V(D) to v
which is not contained in C. So by starting at w, goes to v and following C, we can make a trail which is
longer than C, contradiction.

Now we can do the induction. If |[E(D)| = 0, then done. Suppose it holds for any digraph D with
|E(D)| < m, and now assume |E(D)| = m. Then, from the above argument, we can find a longest circuit
C, and think about D’ = (V, E'\ E(C)). Note that for each connected component of D’ has Eulerian circuit
by the inductive hypothesis, and the fact that C' contains the same number of outgoing arc and ingoing arcs
for each vertex v € V(C); note that the latter is from the definition of circuit. Now, from the connectedness
assumption, each Eulerian trail of connected component of D’ should have a point shared with C; (otherwise,
from the connectedness assumption, there exists an arc from a point of the connected component of D’ to
point of C' which is not belong to C, (otherwise the Eulerian trail of the connected component of D’ should
have a point in C.) But, from the definition of Eulerian trail, this arc should be contained in the Eulerian
trail, so the point in C' should be in the Eulerian trail, contradiction.) Then, we can make the Eulerian circuit
C’ of D, traversing C and if we met a point in D’, then traversing the Eulerian circuit of the connected
component of D’. Since C’ contains C, so it is longer or at least of the same length with C. From the
maximality of C, C' = C, done. O

Theorem 4.4 (Ghouila-Houri). Let D be a strongly connected digraph without loops. If for any v € V(D),
indeg(v) + outdeg(v) > n, where n = |V(D)|, then D has a directed Hamiltonian cycle.

See [3][p. 420] for argument about this theorem and hamiltonian.

Proposition 4.5. Let G = (V, E) be a connected graph. Then G has a strongly connected orientation if and
only if G has no bridges, i.e., cut-edge.
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Proof. If G has a bridge, say e, then G — e has a 2 connected component, U — V saying U and V are those
two connected component. Then, in any case of orientation, we cannot make both paths from U to V or
V to U simultaneously, since only U — V or V' — U occur in any orientation, so no orientation make the
digraph strongly connected.

Conversely, if G has no bridge, let U = @), and let C be an arbitrary cycle in G. Note that if C' does not
exists, then G is a tree, so it has a cut edge, contradiction. Now make orientation for C'. Now, add all the
vertices to U while U # V(G). If U # V(G), then there exists an edge o = xy which is not contained in
Cbut z € V(C), soy & V(C). Now take C'(a) in G, a cycle containing a. (Also, this cycle must exists,
otherwise « is a cut-edge, contradiction.) Now take a path in C'(a) from x to z, where z is the first vertex in
C(«a) which is in U when we walk from z to y along C(«). Then orient edge a from z to z along this path
(i.e., z = x1 — -+ — 2z.) Then keep those vertices in the path from x to z in U. Repeat this process again.
Since G is finite, thus this process is always terminated when U = V(G). Now to show that there exists a
direct path w,v € V(G) for this orientation, think about the generating process of the orientation; if u,v
are added in the same step, then there exists a directed path, done. Otherwise, without loss of generality,
assume u is added first and v is added in some later step. If v is added in U in the first step after u is added
in U, then there exists a path from z to v, which are added in the same step with v, and x is added in the
step when u belongs to U, so we have a directed path from u to v, done. If v is added in the n-step after u
is added, and we have a path from u to any vertex added in the 1,2,---  n — 1-th step, then there exists a
vertex  which has a directed path to v by construction, but z is added in the previous step, so we have a
directed path from u to z, thus by joining those two paths, we have a directed path from v — z — v, done.
So G under constructed orientation is strongly connected. O

Example 4.6 (2-trading problem). Suppose that n traders are here, and each one has an item for selling
to the market, and that they can trade freely. At the end, each person gets one item back.

This situation is just an allocation of items to each persons, so we can represent it by permutation of
trading goods. So let I(t;) = t; if trader ¢; gets the item from ¢;. Also suppose that every one has a linear
ranking on all the items. (Note that [ is a bijection on [n], so we can regard it as permutation]

Definition 4.7 (Core allocation). [ is a core allocation if after | permutes items, then there is no subset
S of {ti}_, such that by trading among themselves, each receives an item that he ranks higher.

Is there a core allocation exists? We can use the below lemma to find core allocation.
Lemma 4.8. In a digraph in which every verter has outdegree > 1, then there is a directed cycles.

Proof. Think only connected component first. Choose any point v; and walk into another vertex, say vs. If
v9 has outflow to point which is not visited before, then go to there, otherwise we can make a cycle, done.
Do this until 1) we have a cycle or 2) we visit every point in G. If we visit every point in G, it means that
we didn’t make a cycle; then, the last point, say v,, also has an outflow, and this should connect with one
of v1,-++ ,v,_1, say v;. so we can make a cycle v; = - -+ — v, — v;, done.

For nonconnected case, we can find a cycle on the connected component, done. O

To use this, let’s make a digraph from the linear rankings first. For example, say below matrix

trader \item | ¢1 | to | t5 | s | t5
t 413111215
to 4 1 3 1 215
t3 4 3 5 1 2
ty 114|352
ts A5 2 13

Build a digraph on n vertices by adding arc

t; — t; if ¢; ranks the item of ¢;’s the highest.
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For example, in the above ranking system, we have

ty

Now find a directed cycle by the lemma. Remove these traders and items. In this case, we can get rid of
t1,t3,t4. Now we can generate a ranking matrix between to and t5, which is

trader \item | to | ts5
12 1] 2
173 2|1

So the digraph is just to — to,t5 — t5, hence we have a core allocation, which is

= <t1 lo 13 14 ts)
ty to tg t1 ts)°
Now we can prove the above process always gives a core allocation; each round, we have a cycle
C1,C5, -+ ,C,. If the result is not core allocation, then there exists nonempty S C V such that make
a trade on themselves so that they can have the item higher than the current item they have. Now find the
minimum indexed cycle which contains a trader z in S. Then, z € C;N S for some 4. By this i-th round, z is
already get the best possible item. So he cannot improve his item by trading iny € C;UC;+1U---UC,.. But,

S C C;UCiy1 U---UC, by minimality of i, so  cannot make his item be better by trading with someone
in S, so x € S, contradiction.

4.2 Network

Definition 4.9. A network is defined as N = (V, A, s,t,c) where V, A are denoting a set of vertices (called
nodes), and a set of arcs, and s,t € V denote the source and sink respectively, and ¢ : A — R is called
capacity, and denote an weight associated to each arc.

Definition 4.10. A flow f on N assigns a value f(e) for each edge e. We denote fT(v) for the total flow
on edges leaving v, saying outlfow of v and f~(v) for the total flow on edges entering v, saying inflow
of v. A flow is feasible if it satisfies the capacity constraints 0 < f(e) < c(e) for each edge e € A, and the
conservation constraints if f*(v) = f~(v) for each node v & {s,t}, i.e.,

Ve e V\ {s,t}, Z fle) = Z fe)

e departs at x e arrives at x

After that, we only care about feasible flow, so ‘flow’ denotes just a feasible flow in later.
Also, we denote flow out of the source as

Frs)=f(s)
and flow entering the sink as
R OESMOF

Let U C V, then define .
U:={ac A:init(a) € U term(a) ¢ U}

where init(e) is the initial point of e and term(e) is the terminal point of e for any e € A. Similarly,

U= {a € A :init(a) € U,term(a) € U}.
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Lemma 4.11. Let f be a flow on a network. Let U be a subset of V' that contains s but not t. Then,
S of@) = fla)=f(s) = f(s).
aclU aeﬁ
Proof.
FHS) =17 =3 (@)~ f @)= ff@) =D f @)= )~ [ (@)

zelU zeU zeU acl act

where the first equality comes from the fact that s is the only one vertex in U who may not satisfy the
conservation law, and the last equality comes from the fact that if z,y € U, we can cancel out those flow so
that we only care about a flow out from U to U€ or a flow in from U to U. O

Now take U = V' \ {t}. Then ) 5 f(a) =3 & fla) = f~(t) - fT(t), thus
Fr) = f(s)=f ()= fF (1)

by the above lemma. This number f¥(s) — f=(s) = f=(t) — fT(t) is called the value of f, denoted by
val(f).

Now one may question that the maximum value of N among all feasible flows.

Definition 4.12 (Cut). A cut C in a network N is a set of arcs such that after removing C, there is no
directed path from s to t.

Now define the capacity of a cut C as

cap(C) = Z c(w).

acC

We say C' is ménimum if it has the smallest capacity among all cuts.
For example, if U C V such that s € U,t ¢ U, then U is a cut.

Lemma 4.13. Let C be a minimum cut, and U := {x € V : 3 a path from s to x in N — C.} Then, C' = U.

Proof. To see U C C, Leta:(as,y)elj. If « ¢ C, then s - x — y is a path in N — C, so C' is not a cut,
contradiction. Hence a € C. Conversley, if « = (z,y) € C. Then, if we add « back to N — C, then from the
minimum condition, C' is not a cut, so 3 a path from s to ¢ containing a. Say this path A. This implies that
A contains a path from s to z in N — C, so x € U. Now it suffices to show that y € U¢. If y € U, then there
exists a path s — y in N — C. Then since y — t is in A which is in N — C, so there exists a path s — t in
N — C, contradicting the construction of C, so y € U°. O

Theorem 4.14. Let U CV containing s, not t. Then for all flow f on N,
cap(U) > val(f).

Hence, for minimum cut C,
cap(C) > wval(f).

Proof.
val(f) =Y fl@)= Y fl@)< Y fla)< Y ela) = cap(U)
ae?j

(xeﬁ ael_j aE(j

where the first equality comes from the above lemma, and the rest is just definition of capacity. The last
statement comes from the fact that U is arbitrarily chosen, and one of U gives a minimum cut C'. O

So, how to increase val(f) by changing f(e) for each e € A?
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Definition 4.15. f-augmenting path is a path P from s to t in the underlying graph of N such that for
each arc, say o, on the path, if direction of arc agrees with that of P, then f(a) < C(a), and if the direction
of a doesn’t agree with that of P then f(a) > 0.

- if directi ith P
Let e(e) = ce) = fle) zrec. ion of ¢ agrees wi Then, tolerance of P is ¢(P) = min{e(e) : e €
f(e) otherwise.

Py,

Note that f-augmenting path may not be alternating; for example ¢ — e < @ and ¢ — e — e can be f
augmenting path if they satisfy the condition of augmenting path.

Theorem 4.16 (Ford-Fulkerson). In every network,

I(f) = i :
PR = i e

Actually this is the result of algorithm described as below.
Proof. Input is N = (V, A, s,t,¢).
e Start with any flow (at least O-flow, i,e, f(e) =0 for any e € A. ). Set U = {s}.
e While Ja = (z,y) such that either a) o € U and f() < ¢(a) or b) a € U and fla) >0,

— In case a), add y to U
— in case b), add = to U.

e Output:U.
Now we can check the outputs. If t € U, then there exists a f-augmenting path @ say
RQ=z9g=8—>x1 > =Ty ="

Then, (@) > 0.
e If ¢(Q) > 0, then update f by
f(a) + € if direction of « agrees with Q

fla) =< f(a) — e if direction of o disagrees with @ .
fle) ifadQ

Then this updated flow, say f™* is a flow with value val(f) + e.

o Ift £ U, then U is a cut. Note that for any arc in 8 € U, f(B) = ¢(B) otherwise term(B) € U by the
algorithm. Also, for any arc in § € ﬁ, f(B) =0, otherwise, init(f) € U.

So
val(f) =" fle) =Y fla) =Y f(a) = cap(D).

ozefj an aelj

where the first equality comes from the lemma above, and the rest equality comes from the property of this

specific U.
This equation shows that capacity of minimum cut is just the maximum value of flow, since the algorithm
generates both the maximum flow and a cut having val(f) as capacity simultaneously. O
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For example, think about the below network

z Y

Start with f(e) = 0 for all edges. Then in the first round of the algorithm we get U = {s,u,x,v,¢}. Then
we have a f-augmenting path s - v — v — ¢, and € = min(2, 1,2) = 1. Thus update it so that

f(s—=u)=flu—v)=flv—=1t)=1, f(e) =0 for other e.

In the second round, we have U = {s,u,z,y,t},and Q = s = v — y — t, e = min{2, 1,2} = 1, so we update
it then we have

fs—=u)=flu—av)=flv—=t)=f(s—x)=flx =>y)=f(y—=1t) =1, f(e) =0 for other e.

—

Then, in the third round, U = {s,u,x} hence f reached maximum flow, so val(f) = 2, cap(U) = 2.

Theorem 4.17 (Integrality theorem). If all capacities in a network are in Z, then there is a mazimum flow
with f(a) € Z. Furthermore, some mazimum flow can be partitioned into flows of unit value along paths
from s tot.

Proof. This is because € is determined from the capcity, and updating f is determined by e. O

Note that in the proof of the Ford-Fulkerson algorithm, we implicitly use the fact that e is rational;
otherwise, this generating process of f-augment path may not end. Edmond and karp gives an algorithm
using at most (n® — n)/4 augmentations to get the maximum flow for all real capacities.

Definition 4.18 (Set up for Menger’s theorem). In a digraph D = (V, A), let s,t € V with s # t. A s-t
separating set of arcs is defined as a set where every path from s to t uses at least one arc in S .

So, there are several s,t separating set, for example, A itself.

Theorem 4.19 (Menger’s theorem). The minimum number of arcs in a s-t separating set of arcs S is equal
to the maximum number of pairwise arc-disjoint paths from s to t.

Proof. Make a network N = (V(D), E(D),s,t,c) by setting ¢(a) := 1,Va € A(D). Then from the Ford-
Fulkerson algorithm, minimum capacity of cut is equal to maximum value of flow. Say the maximum value
as p. Also, from the integrality theorem, this flow is union of unit-value flow along path from s to ¢. Then,
they are arc-disjoint because 0 < f(a) = ¢(«); if two path from distinct flow share the edge, then capacity
of that edge should be at least 2, since its union is also a feasible flow. O

There are several applications.

e For a particular team X want to know whether it can win the championship by the end of the season.
We know X7, -, X,, other team’s winning data up to now. We know the number of games still remain
between any 2 team. Then we can use the network;

Assume X can win all its remaining games and reach W wins. hope other teams don’t win over W
games. Let
W; = # of games win by team X;.

To win the championship, we need condition that

X; <W-Ww;
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i.e., the number of total winning games of team 14 is less than that of my team. Then make a network

x Y12
Z2 Y13

S t
Tn Yn—1,n

where z; — y;; and z; — y;; for any i < j € [n] with capacity as below;

‘ Arcs ‘ (s,) ‘ (ij, 1) ‘ (i, Yi5) \ (w5, yij) ‘
‘ Capacity ‘ W —W; ‘ aij ‘ 0 ‘ 00 ‘

where a;; is the number of games remaining between teams X; and X;. Then we can denote a game
in which X; beats X; as a flow f with f(e) =1 fore € s - X; = y;; — t and f(e) = 0 otherwise. So,
X can win the championship if and only if there exists a flow on the network which saturates the arcs
(yij,t), ie., f((yij,t)) = asj for all 4, j € [n], i.e., there exists a possibility that no team wins more than
W. (Note that flow not saturating some (y;;,t) means nothing since it cannot assure whether X can
win or not if we count all possible remaining games of other teams. Also, if there exists a flow having
maximum value greater than ), a;;, then it contradicts the fact that cap(E(

Observe that {(y;;,t),Vi < j} is a cut so if the desired f exists, then every cut on N has capacity
greater than or equal to ), _; a;;. So we need to show that {(yi;,?),7 < j} is a minimum cut. So we
need to show that for all U CV st. se U,t € U,

cap(U) = Zaijw
1<j
To get the minimum cap(ﬁ), for any z; € U, assume y;;,y;; € U; otherwise ; — y;; or x; to y;; are
in U so that cap(U) = oo. Also, for any xy,z; & U, delete yp; & U. (Since they affect capacity with
a;;.)Then we can represent U as
U={z;,:i€e K}U{y;;:iorje K}

for some K C [n]. Then, {(yi;,t),Vi < j} is a minimum cut if and only if
cap(U) = Z(W - W) + Z a; > Z a;;, VK C [n]
igK ior jeK 1<j€E[n]

i.e.

Z(W — Wz) Z Z aij,VK g [n]

igK i and j€K

By taking L = [n] — K, we can say
SW-wi)> > a;,VLCn]
el i and jEL

And this is reasonable condition; The remaining winnings for team i to reach W is greater than their
total remaining games.

General network model is a network with multiple sources z; with supply o(z;) and multiple sinks y;
with demand 9(y;). In addition to capacity and conservertive constraints, there exists a transportation
constraints such that

Limited Source:Va;, fT(x;) — f~ (z;) < o
Meet Demand:Vy;, f~(y;) — 7 (y;) < 9(y;)
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For a set of sources X = {z;}/_, and a set of sinks ¥ = {y;}}_,, are there any feasible flow? To
answer this we need a notation; for all U C V(INV), define supply as

cUNX)= Y olx)
z;, €U

and demand as

oUNY)= Y dy)

yi €U
For any 2 disjoint subset S, T of vertices, define

cap(S,T) = Z cap(a).

a:S—T
Then,
cap(U) = cap(U, Uﬂmap(g) = cap(U°,U).

Then the neccesary condition for feasible flow is that
VT CV(N),cap(T¢,T) >0(TNY)—o(TNX),

i.e., capacity betwen any subset of sinks and any subset of sources should be greater than the deficiency,
which is difference of demand and supply of those sinks and sources respectively. This is called Gale’s
condition.

Theorem 4.20 (Gale). there exists a feasible flow iff the Gale’s condition holds.

Proof. Sufficient part; construct a network N’ by adding a supersource s and supersink ¢ to N, with
new arcs (s, x;) with capacity o(x;) and (y;,t) with capacity d(y;). If N has a flow saturates all arcs
(y;,t), then it is a feasible flow on N. Also note that {(y;, t)}§:1 is a cut in N’. Hence by the Menger’s

theorem, there exists a flow saturating {(y;, t)}é»zl if and only if C' = {(yj;, t)}é»:l is a minimum cut of

N’. So all we need to do is to check that the Gale’s condition implies C' is a minimum cut.

Let U be any subset of V(N), Then, we can calculate cap(U U {s},U¢ U {t}) in N’'. Note that this
value counts capacity of

1. s — source in U¢, which gives o(U¢)
2. sinks in U to ¢, which gives 9(U)
3. Arcs in N from U to U€, which gives cap(U,U*¢) in N.

Thus,
cap(UU{s},UU{t}) > 0(Y) <= cap(U,U°)+o(U)+0(U) > 0(Y) <= cap(U,U°) > 0(U)—a(U°)
so, by letting T' = U*, this is converted into

cap(T<,T) >0(T'NY)—o(T'NX)

thus the condition from Menger’s theorem is just equivalent to the Gale’s condition since we choose U
arbitrarily, done. O

Definition 4.21 (Bigraphic). Given D = (p1, - ,pm) € NU{0})™7 = (q1, - ,qn) € (NU{0})", we say
(p,q) is bigraphic if 3 a simple bipartite graph (X UY, E) s.t. | X| =m,|Y| = n and the degree sequence of
X isp and that of Y isq.

For example, if p = (1,2,3),7 = (3, 3,0) is not bigraphic; if it is, then a simple bipartite graph generated by
X UY satisfy a condition that xs must have three edges from x3 to three points in Y, however, only two
points in Y has the degree greater than 0.

In contrast, p = (1,2,3),7 = (2,2,2) is bigraphic; make edges such as x; — y1, T2 — Y2, 22 — Y3,23 —

Y1,T3 — Y2,T3 — Y2.

49



Theorem 4.22. Assume p1 > -+ > py and q1 > -+ > ¢m. Then (P,q) is bigraphic if and only if 1)
Yipi =345 and 2) Vk € [n], 37, min(pi, k) > 325, g

Proof. Note that the first condition is not holds, then it is not bigraphic; since bipartite graph should
have deg(X) = deg(Y). So suppose it holds. Let G be a simple bipartite graph realizing (p,q). Take
T ={ty, - ,tx} CY. Then, the number of edges incident to T is

deg(t1) + -+ +deg(te) < q1 4+ -+ g

since degrees are sorted as descending order. Also, note that in a viewpoint of x;, z; has at most min(p;, k)
neighbors in T. Thus

i min(p;, k)
i=1

is an upper bound on the number of edges incident to 7" with |T'| = k. Thus we need a condition Vk € [n],
m . k
> imy min(p;, k) > Zj:l a;-

To show a sufficiency, build a supply-demand network, by letting X be a set of sources with o(z;) = p;
and Y be a set of sinks with 0(y;) = ¢;. Consider the complete bipartite graph X UY’, and assign 1 for each
edge’s capacity. Then, since unit capacity preserves multiple edges, (p,q) is bigraphc if and only if there
exists a feasible flow. And this is equivalent to say that this network satisfy the Gale’s condition, by Gale’s
theorem.

Let T C V(N) = XUY. Then, define X0 =TNX,Yr =TNY, Xs =T°NX,Ys =T°NY. Then,
Gale’s condition says

cap(T°, T) + o(T) = O(T).

In this network,
cap(T¢,T) = # of arcs from Xg to Yr = | X;| - |Y7|

since underlying graph is complete bipartite. And

o(T)= 3 p,dT)= > 4

z;€Xr Y; €YD

Let’s assume |Yr| = k Then,

cap(T¢,T) = | Xglk = Z k> Z min(p;, k).
r€Xs z;€Xs

And
o(T) = Z pi > Z min(p;, k)

r,€XT z; €XT

Hence

m
cap(T°,T) +o(T) > Zmin(pi,k) >qgr4 4 gy = Z @
=t y; E€YT

where the first inequality comes from the given condition, and the second inequality comes from the fact
that maxrrycy ¢; < Y.iy ¢;, done. O

4.3 General Connectivity
Let G = (V, E). Then

Definition 4.23. Vertex separating set S C V is a set such that G — S, a graph removing all vertices of
S and all edges incident to S is not connected. Then we define connectivity as

k(GQ) :==min{|S| : G — S is disconnected or G — S has only 1 vertex}.

Also, we say G is k-connected if k(G) > k.
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For example, the complete graph K, has x(K,) = n — 1. The complete bipartite graph K,,, has
K(Km,n) = min(m,n). Also note that

K(G) <6(G)

where 0(G) is the minimum vertex degree of G, since for a vertex v € G having degree 6(G), we can take
S = N().

Also, if G has connectivity k, then by above inequality, 6(G) > k, hence G has at least {%"] edges. And
the bound is best possible whenever k < n shown by Harary graph Hy, .

Definition 4.24. H, ; with k < n is a graph generated by following step; place n vertices around a circle,
equally spaced. If k is even, then form H, i by making each vertex adjacent to the nearest k/2 vertices. If
k is odd and n is even, then form H, by making each vertex adjacent to the nearest % vertices on both
sides (right and left) and to the diametrically opposite vertex. In each case, Hy , is k-regular.

When k,n are both odd, then Hy p = Hp—1 n + {(z,z + "T_l) :0<i < ”T_l}

Below graphs are Hy g, Hs g, and Hjy g respectively, from the left to the right.

Claim 4.25. If k is even, then Hy, , are k-connected.

Proof. If one can remove S vertices where |S| < k, and the resulted graph is disconnected, then for all
x € V(G)\ S, Jy1 € V(G) \ S the first vertex not reachable from = when we walk from z to y; in clockwise
direction. Similarly, let yo be first vertex which is not reachable from x when we walk from = to y, in
counterclockwise direction. (Note that y; = ys is possible.) So all neighbors of y; between z and y must
in S, which is k/2 many vertices. by the same reason, all neighbors of y, vertices between = and y, must
belong to S, this is also k/2 many vertices. Since those vertices are distinct from each other, so |S| > k,
contradiction. O

Definition 4.26 (Disconnecting set). Let F C E(G) is a disconnecting set of edge if G — F has at
least 2 connected components. We say G is k-edge connected if every F has size > k. Then the edge-
connectivity is defined as

k' (@) = min{|F| : F is diconnecting set of G}.
For any S C V(G) with S # (0, an edge cut is defined as
E(S,S°) = { edges connecting S to S}

Note that every minimal disconnecting set of edges is an edge cut when n(G) > 1. To see this, if G — F
has more than one component for some F C E(G), then for some component H of G — F, we have deleted
all edges with exactly one endpoint in H. Hence F' contains the edge cut E(V(H),V(H)°) and F' is not
minimal disconnecting set unless F' = E(V(H),V (H)®).

Obviously, x'(G) < §(G), since taking F' be a set of all edges connected to the vertex having degree §(G)
implies F' is disconnecting set.

Theorem 4.27 (Whitney, 1932). «(G) < &/(G).
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Proof. Let F be the minimal edge disconnecting set of size x'(G). Then by the above argument, F = E(S, S¢)
for some ) € S C V(G). Now observe edges between S and S¢. Since the upperbound of x(G) is n(G) — 1,
if every vertex in S is adjacent to every vertex in S¢, then

K =1E(S,S°)| =515 > n(G) — 1 > k(Q),

since min |S|[S¢| is just min;epy{i-n —i}.

Otherwise, 3z € S,y € §° but xy is not an edge in G. Let T = N(z)NS°U{s € S : s # x and N(s)NS° #
(}. Then, z and y stays in the different connected components in G — T' (to see this, note that N(y) C T,
so y and x has no path in G — T.) Thus T is separating set. Now each u € N(z) N S¢ corresponds to the
edge zu € E(S5,S5°) and each s € {s € S : s # x and N(s) N.S° # ()} corresponds to the at least one edge
from s to some point s¢ € N(s) C S Thus

IT| < [E(S, 59
and from the fact that T is a separating set and E(.S, S¢) is the minimal edge disconnecting set, we have
K(G) < |T| < |E(S, 89| = #'(G).
done. O

Example 4.28. If G is 3-regular, then k(G) = k'(G) < 3. To see this, assume G is connected. Let S be a
vertex cut of size k(G) = k. It suffices to find a separating set of edges of size k. Let Hy, Hy are connected
components of G — S. Then check that each verter s in S, s must be connected to both Hy and Hy by the
minimality of S. There are three cases happen.

o Case 1: if #E(s,Hy) =1 and #E(s, Hy) = 2.

o Case 2: if #FE(s,Hy) =2 and #E(s,Hy) = 1.

o Case 3: if #E(s,H1) =1 and #E(s,Hs) =1,
Now construct a set S’ as follow; for each v € S, if v is

e Cuse 1, then take s — Hy be in S’. (Since this edge is uniquely determined, such notation is well-

defined.)

e Case 2, then take s — Ha be in S’. (Since this edge is uniquely determined, such notation is well-
defined.)

e Cuase 3, then take s — Hy be in S’. (Since this edge is uniquely determined, such notation is well-
defined.)

By this operation, |S’| = |S| and this gives two connnected component containing Hy and Hs, respectively.

Say those as Hj, H) respectively. To see why this is a connected component, note that v € Hf if and only if
v € Hy orv €S with case 2. If v € Hy, then there are four cases happen;

e Case 1: if v is connected with s,s’ € S, then if s or s’ is case 1 or 3, it implies v is separated with s
or 8" by S'. Or if one of them is case 2, then s or s’ is in H{. So v has no edge connecting to HS.

o Case 2: if v is connected with s only, then by the same argument above, v has no edge connecting to
Hy
e Case 3: if v is connected with vertices in Hy only, then trivially it has no edge connecting to Hy'.

Also if v € S, then by construction, v is case 2, so still no edge exists connecting v to H). We can do the
sitmilar argument for H) so that H and H) has no vertices having edge connecting to each other, done.

Now we can rewrite the Menger’s theorem in digraph edge version;

Theorem 4.29. Given s,t € V(D), a set F C E(D) is called s,t disconnecting set if D — F' has no s,t
edge disjoint path. Then,

max # of edge disjoint (s,t) path in D = min size of s-t disconnecting set of edges s.

52



4.4 Network capacity constraints on vertex

What if the capacity constraints are on vertices? That is, for all v € V(IN), v # s,t, a feasible flow should
satisfy

fr)=f"(v) <c(v).

Actually, this can be converted into another network; for example, if we have a vertex like below;

we can rethink the constraints from the vertex capacity as a constraints of edge capacity in a new network
as below;

where new vertex v+ and new arc v~ — vT are inserted in the original graph, and the edge capacity of
v~ — vt is the vertex capacity.

Now assume N has only vertex capacity constraints. (i.e., edge capacity is 00.) let N’ be a new network
generated for translating vertex capacity condition, and E(N’) be a set of edges in N’. In E(N’) we still
have max flow = min cut. So to be minimum, it has to contain only edges of the form v~ — vT. So we can
turn it into the set of vertices on N.

So, for given a digraph D, or an undirected graph G, with s # ¢, with st is not an edge or arc, make a
network N with vertex capacity C(v) = 1 for all v # s,t. And let ¢(e) = oo for all edges. Then by above
construction of N’ we can get the Menger’s theorem in vertex version as below;

Theorem 4.30 (Menger’s theorem in vertex version).
min # of vetices separating s and t = max # of independent paths from s to t

where independent path denotes a vertex disjoint path except s,t. (Two paths are independent if their
vertices are disjoint to each other except s and ¢.)

Corollary 4.31. For k > 2, a graph is k-connected if and only if G has at least two vertices and any two
vertices can be joined by k independent paths.

Similarly, G is k-edge-connected if and only if G has at least 2 vertices and any 2 vertices can be joined
by k-edge-disjoint set.

Proof. First one and the second one is just rewritten Menger’s theorem in a version of vertex and edges,
respectively. O
5 Coloring and Ramsey Theorem

Definition 5.1. Let G be a simple graph, and f:V — S be a vertex coloring where S is a set of colors.
We call f is proper coloring if and only if adjacent vertices receive different colors. Then we say G is
k-colorable if G has a proper k-coloring. Then we define chromatic number of G as

X(G) :=min{k : 3 a proper k-coloring in G}.
For example, x(Capnt1) = 3, x(Can) = 2, x(K,) = n where C,, is a cycle with n vertices. There are several

basic properties for coloring.
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Definition 5.2 (Clique). A clique of G is S C V(G) such that G|s = K\g|, a complete graph with
|S| vertices. Then let w(G) be the number of mazimum size of clique in G.

Obviously, x(G) > w(G) since any proper coloring of G should give a proper coloring of a clique with
size w(G), which implies it contains at least w(G) colors.

For a proper coloring, each class of color is an independent set. And G is k-coloroble if and only if
V(G) is union of k-independent set, which is equivalent to say that G is k-partite graph. Note that
definition of k-partite graph is a graph with k independent set.

Now recall the independent number «(G) := max cardinality among all independent set of G}. Then,

k
Z size of each color class t = n(G)

t=1
Since size of each color class should be less than a(G), we can get

n(G) < X(@)a(G) = x(G) > ﬁ

X(G1 U G2) = max(x(G1), x(Gz2)). This is from setting one of color sets for G; and G2 are contained
into the other.

Let GOH be a cartesian product of G and H, i.e., GOH = (V,E) where V = V(G) x V(H) and
E = {(u,v) ~ (u,v') :u=u v~ oru~u,v=1} For example,let P, =1—-2,P, =a—ba
graph with one edge. Then, PP, is

(1,b) (2,b)

(1,a) (2,a)
which is @2, a hypercube. Actually,
Qr = BROPRO-.--0OP,
[ —

k times

So, P,,0P, gives a grid from (0,0) to (m,n), and C,,,0P, is a grid identifying z = m and = = 0, so
on.

Lemma 5.3.
X(GOH) = max(x(G), x(H)).

Proof. Note that x(GOH) > max(x(G),x(H)) since G, H are subgroup of GOH. Now let k =
max(x(G),x(H)). Then both G and H have a k-proper coloring f,g respectively. Then color
(u,v) € GOH by

c(u,v) = f(u) + g(v) mod k.
Now it suffices to show that ¢ is a proper coloring of GOH. If (u,v) and (u/,v’) are adjacent, then
either f(u) # f(u’) or g(v) # g(v"), but not both holds. In any case |f(u) + g(v) — f(u') — g(v)| < k,
thus c(u,v) # c(u’,v"), done. O

X(G) <A(G)+1

where A(G) is the maximum degree of vertices in G. To see this, list vertices in a row. Color 1 by
1 with greedy method; in the worst case, vq,--- ,v;—1 are adjacent to v; where deg(v;) = A(G). So
vy, -+ ,v; should have distinct color, which implies that at least A(G) 4+ 1 number is needed.
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e A slight improvement is list the vertices by their degree large to small, i.e., deg(vy) > deg(vy) > -+ >
deg(vy,). Then,
X(G) <14 max (min(deg(v;),7 — 1)).
7

To see this, note that if we color v;, then it has at most min(deg(v;), ¢ — 1) neighbors in {vy, -+ ,v;—1},
so at most this many color appeared previously. So v; may be colored with 1 + min(deg(v;),7 — 1)
index, which implies the above result.

e Register allocation and Interval graph. Suppose there are a number of rooms available. Two variables
can be in the same room if and only if they are never used simultaneously. To use the minimal rooms
for saving those variables, let’s make a graph G = (V, E). V is a vertex set, which is just a set of
variables. And two vertices are connected by an edge if those are called simultaneously. Then, a room
is independent set in G; hence the minimum number of room needed is just x(G).

Define an interval representation of G be a family of intervals assigned to vertices so that vertices
are adjacent if and only if the corresponding interval intersect. Below figure is the example of such
graph.

we call G is interval graph if G has such representation.

Claim 5.4. For an interval graph G, x(G) = w(G).

Proof. Order the vertices by the position of left endpoint of each interval representing vertices. Then

there exists v; which has x(G) = k-th color. This implies that there exist vertices v;,, - ,v;,_,
having 1,2,--- ,k—1 and they are connected to v;. Then, by the same argument, v;, _, is connected to
Vi "t Uiy, and so on. Thus {v;,,- -+, v;, } forms a clique on G, so w(G) > x(G). Since x(G) > w(Q)
always, we have the desired result. O

Theorem 5.5 (Brook). Suppose G is connected and G # K,, or C, with m € Nyn € 2N — 1. Then,
X(G) < A(G).

Proof. Let k = A(G). We may assume k > 3, since k < 1 implies G is a complete graph, k = 2 implies that
G is an odd cycle or is bipartite. (Note that even case is contained in the bipartite case.)

If G is not a k-regular, then there exists a vertex of degree less than k, then say this is v,. Then find
a spanning tree J with root v,. Then list vertices of J in a children first. Then for all v; # v,, its parents
appears after v;. Then, note that v; has at most k — 1 neighbors in {vy, -+ ,v;_1} since k is the maximum
degree and it already has a path to v, along some vertices in the higher index. Thus, by applyging the
greedy algorithm, x(G) <k—-1+4+1=k.

If G is k-regular, then there are two cases;

e If there is a cut vertex z, i.e., deleting = gives distinct connectd component, then each G; U {z} is
connected and maximum degree less than A(G), and deg(x) < k in G;U{z}, so G;U{x} is k-Colorable.
Then we can just let color of z is 1 for all G; U {z}, so that G is also k-colorable.

e If there is no such cut vertex, then x(G) > 2. Suppose the case that in a given vertex ordering, vyvo
is not an edge in G, but v1,vs € N(v,), and G — {v1, v} is connected. Then, find a spanning tree in
G — {v1,va} such that label 3,4, --- | n increases along paths to the root v,. In this case, by the same
argument, every vertex v; # v, has at most k — 1 neighbors before i, so by the greedy algorithm we
can generate a k-coloring of G, by filling £ — 1 colors for vs,--- ,v,_1, and from v,, has neighbors at
most k — 2, it has k£ — 1th color, then we can color v; and vy by k-th color since they are not connected
by edge.
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e Now think about the case where vy, va, v, gives a clique and k(G) > 2. Now choose z € V(G). If
k(G —1x) > 2, then let v1 = x, vy be a vertex which is distance 2 from vy, and v,, be the middle point of
the distance 2 path from vy to vs. Such vertex vs exists since G is regular, and not a complete graph.
Then we can apply the above case 2 argument.

e Now we should deal with the bad case; G is k-regular, connected and x(G) = 2, and Vz € V(G),
k(G — ) = 1. Then, we need a concept of block.

Definition 5.6. A block of G is a mazimal connected subgraph of G that has no cut-vertex.

Now from k(G —z) = 1, G —z has a cut vertex, so it has at least 2 blocks. And since G is 2-connected,
x has an edge with each leaf blocks connected to not a cut vertex. Note that “leaf blocks” is a name for
blocks in G where G itself is not a block. So take v1,vs from each block which are connected to = by
an edge. Then, vy, vy are nonadjacent, and from k > 3, z has another adjacent vertex, so G — {v1, va}
is still connected. Hence we can apply the above argument.

O
Basic properties of block are as below;

e If two blocks Bj, Bs are exists, then their intersection has at most one vertex. (Otherwise, B; U By is
also a block, since it has no cut vertex, contradicting the maximality of blocks.)

e And if intersection point exists, then it is a cut vertex. (Otherwise, By U By is a block, contradiction.)

o We can make a graph Bg = (Blocks, cutvertex).

5.1 Chromatic polynomial

Now we can investigate the enumerative aspect of x(G). Let x(G,k) be the number of proper colorings
f:V(G) — [k]. For example,

1. if G is just n isolated vertices, then x(G, k) = k™.
2. if G = K,,, then x(G,n) =k(k—1)---(k—n+ 1) = k*,a falling factorial.
3. if G is a tree on n vertices, then k(k — 1)"~!. (Use greedy algorithm)

4. if G consists of two connected component Gy, Gs then
X(Gv k) = X(le k)X(G27 k)

Claim 5.7. x(G, k) is a polynomial of k.
Proof. Count the number of proper coloring of G using r colors of [k]. Then,

1. Partition V(@) into r disjoint nonempty blocks of independent set. Say this number P.(G), since it
depends on G only.

2. Then, give each independent set a disjoint color r!.

Then,

n

e =3 (F)ren =Y ere)

r=1

which is a polynomial of k. O

We say x(G, k) is the chromatic polynomial.
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Theorem 5.8. Let G be a simple graph and e € E(G). Then,

X(G k) = x(G = e, k) = x(G/e, k).
where G /e is an edge contraction of G with respect to e.
Proof. Note that above equation can be rewritten as

X(G k) + x(Ge k) = x(G — e, k)

and we can think x(G/e, k) as the case when init(e) and term(e) has the same color, and x(G, k) as the
case when init(e) and term(e) has different color. And any proper k coloring of G — e is divided for those
two cases, done. O

For example,

X(Cs,k) = x(o — o — e — e k) —x(Cy, k)
(k=1)" = (x(e — o — o, k) — x(C3,k))
(k= 1)* = (k(k = 1)° = k(k = 1)(k - 2))
(
eg(

k
k
k

k=1 (k-1)%-(k-1)2+k-2).

1)
Corollary 5.9. If|V(G)| = n, then deg(x(G,k)) = n and x(G, k) = k" —a1 k"1 +agk™ %+ - - with a; > 0,

a1 = e(Q)

Proof. We can do the induction. If |E(G)| = 0, then x(G, k) = k", so done. For induction, let |E(G)| > 1.
Then, G — e,G/e has |E(G)| — 1 edges, so by inductive hypothesis, we can let

X(G —e, k)= Xn:(—l)iaikjn_i,x(G/e, k)= 7i:l(—l)ibik;"_l_i.
=0 i=0
Thus, by letting b_; = 0, we have
kak”+z Yag + b1 )k
Then ag =1, a1 = a1 + by = |E(G)| — 14+ 1 = |E(G)|. O

Proposition 5.10 (Whitney’s formula). Let C(G) = # of connected component of G. For any S C E(G),

let G(S) = (V(G),S). Then,
X(G k)= D (-],
SCE(G)

Proof. 1dea is from inclusion exclusion principle. Assume edges of G are ey, - , e,,. Let e; = x;y; for some
x;,yi € V(G). Then, let F be a set of all colorings of V(G) by [k]. Let A; = {f € F: f(z;) = f(y:)}. Then
f is not a proper coloring on G if and only if f & A;U---UA,,. And from the inclusion exclusion principle,

we have
‘A1U---UAm|= Z (_1)\J\—1 mAj )
0#JCn] jeJ

Now note that
m A, — ke(G(9)
jeJ

where S = {e; : ¢ € J}, since by condition of A;, we should fill any two vertices in the same connected
component as the same color, so there are only k“(G(5) possible way of colorings. Thus,

|Aj U+ U Ap| = Z (—1)!8I=1 el
0£SCE(G)
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Then the number of proper coloring is just difference between all colorings and improper coloring. The
number of all coloring is k" = k() so

X(G k) = k“C®) |4, U U Ay = kCO) Z (—1)I51=1Ee(G(S) = Z (—1)!8Ige(GS)
0#SCE(G) SCE(G)

as desired. O

5.2 Ramsey Theory

Theorem 5.11 (Erdos-Szekeres 1935). Let n € N, and {ai};ii"l be a sequence of distinct numbers. Then,
there is a monotone subsequence of length at least n + 1

Proof. For each a;, label (x;,y;) where x; is the longest increasing subsequence of aq,- - ,a; ending at a;,
and y; is the longest decreasing subsequence of aq,--- ,a; ending at a;. If the sequence has no monotone
sublist of length n + 1 or longer, then ;,y; < n,so there are only n? possibilities for (z;, ;).

Then, from the Pigeonhol Principle with the fact that length of original sequence is n?+1, two (4, v;), (%4, y;)
has the same value. However, from the distinctness, it is impossible; if a; < a;, then x; > z; by adding a;
on the longest increasing subsequence in {a1, - ,a;}. If a; > a;, then y; > y; by adding a; on the longest
decreasing subsequence in {a1,- - ,a;}. O

Definition 5.12. Let S be a set, and (f) be a collection of all r element subsets of S. Then k-coloring of
s

(S) 18 a function from (T

. ) to [k]. A subset T C S is monochrome or homogeneous under a coloring of

(f) if all v elements subset of T receives the same color; it is i-monochrome if that color is i € [k].

Letr,p1,--- ,pk be positive integers. If AN € N such that every k-coloring of ([I:]) yields an i-monochrome
set of size p; for some i, then the smallest such integer is called the Ramsey number R(p1,--- ,pg;7), i.€.,

N
R(p1,- - ,pr;r) :=min{N € N: every k-coloring of <[ ]) yields an i-monochrome set of size p; for some i.}
r

Theorem 5.13 (Ramsey, 1930). R(p1,--- ,pk;r) exists for given positive integers p1,--- , Dk,

Proof. If r = 1, then let N = (Zle pi) — k 4+ 1. Then any coloring of N is just classifying singletones

into k classes, i.e., partitioning N with k classes. If every k box do not meet criteria, i.e., the number of
elements in i-th class is less than p;, then the maximum number of cardinality of each class is p; — 1, so only

(Zle pi) — k elements can be classified in such way. However since N is the least upper bound of it, so

there exists at least one class which has p; elements, so IV is the Ramsey number as desired.
If p; < 7, then any set of size p; is monochromatic, since (pT) is empty, so there exists only one function
f: 0 — [k], which gives monochromatic set vacuously. So,

R(plv"' 7pk;r) = min{plv"' 7pk:}'

if min{py,--- ,pr}t <r.

Now we use double induction; suppose r > 1, and assume that statement holds for k-colorings of the
r — 1 subsets of a set, no matter what thresolds (p;s) are. Also, we assume that statement holds for any
(1, ,pk) < (p1,- -+ ,pn) coordinatewise.

Then let ¢; = R(p1, - ,pi—1,0i — L, pit1, - ,0k;7), N = 1+ R(q1, -+ ,qn,r — 1). By the inductive
hypothesis on p;s, ¢;s exist and by the inductive hypothesis on r, N also exists. Let S be a set of N
elements, and choose x € S. Consider k-coloring f of (f ) We need to show that f has i-monochromatic
q;-set for some i.

Let f’ be a k-coloring of r — 1 sets of S — z induced by following way; for each (r — 1)-set in S — x assign
color ¢ if union of the set with z has color ¢ by f. Since |S — 2| = N —1 = R(q1, " ,qn,7 — 1), f’ has
j-monochromatic subset of size ¢;. Say 7. Then, all (7 — 1)-subsets of T" has the same color j by f’. Since
IT|=q¢; = R(p1, - ,pj—1,Pj — L, Dj+1,- - ,Pk;T), so in S under f, T has i-monochromatic subset of size p;
ifi+#j,orp; —1ifi=j. Ifis# j, then we're done since f has i-monochromatic set with size p;. If i = j,
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then let P be a j-monochromatic (p; — 1)-subset of 7. Then let P’ = P U {z}. by definition of T, every
(r — 1)-subset, say @ of P, which is also subset of T" has color j since @ U {«} has color j. Thus, if r-subset
Q of P’ is contained in P, then it has color j by definition of P. Otherwise, it contains z, thus Q — z is
(r — 1) subset of P, which is subset of T, which is color j under f’, so @ is color j under f by construction
of f’. Hence, in any case, every r-subset of P’ is color j. Hence P’ is j-monochromatic subset with size p;,
done.

(Note that since we already show that ramsey number exists for 7 = 1 and r € N with min{p;}¥_, <,
above induction works well.)

If r = 2, then we can think coloring of subsets as coloring of graph by below construction; for example,
let G = (S, (g)) = K|s|. Then k-coloring of (‘;) is just k-coloring of edges. Then, a monochromatic subset
of size t is just a clique K; with same color.

For example, we can show R(3,3;2) < 6 using graph argument. Let G be a graph with 6 vertices having
only red edges, and G be a graph with 6 vetices having only blue edges. Definitely, G UG = Kg. Then, for
any vertex z, deg(z)g + deg(x)m = 5. Thus by the Pigeonhole principle, « has degree at least 3 for one of
G or G. Without loss of generality, deg(z)g > 3. Then, there are two cases; at least one pair of neighbors
are adjacent, or no pair of neighbors are adjacent. If first case occur then G has a triangle with red edges.
Otherwise, G has a triangle with blue edges. In any case it has triangle, done.

Theorem 5.14 (Erdos-Szekeres, 1935). Vm > 0,3N(m) such that every set of at least N(m) points in plane
in general position contains an m-set whose convex hull is a m-gon.

General position means there is no triple of points forming collinear position. We need two lemmas to
prove it.

Lemma 5.15. V 5 points in plane in general position, there exists a convexr quadrilateral, i.e., a polygon
with four edges and four vertices.

Proof. Think about convex hull of 5 points. If it is pentagon or quadrilateral, then done. If it is triangle,
then two points are inside of triangle. Now draw a line connecting inside points. Then vertices are not in
the line, by constraints of general position. Thus, apply pigeonhole principle for three vertices of triangle to
get two points in the same side with respect to line of inside points. Then, convex hull of these chosen two
points and inside two points gives us quadrilateral. O

Lemma 5.16. If every 4-subset of m points in the plane forms a convexr quadrilateral, then the m points
form a convex m-gon.

Proof. Otherwise, convex hull of m points is t-gon for some ¢ < m. So the remaining points lie insides in
t-gon. Now triangulate t-gon. Then at least one point in the inside is also inside in the triangle (if all inside
points lie in the edge of some triangle, then they are not in general position.) Then, the triangle containng
inside point is just convex hull of four points (vertices of triangle + inside point), which is not quadrilateral,
contradiction. O

Proof of the theorem. Let N(m) = R(m,5;4). Let S be any set of N(m) points in a plane with general
position. For each 4-subset T', color it red if conv(T) is convex quadrilateral; otherwise, color it blue. Then
by the Ramsey’s theorem, this coloring should have either red monochromatic subset of size m or blue
monochromatic subset of size 5. If first case occur, then by the second lemma, this m points form a convex
m-gon. If the latter case occur, then any four points in the subset of size 5 should not form quadrilateral,
but this contradicts the first lemma; so the latter case cannot occur. O

Now we can investigate some bounds on R(k,[;2). Let R(k,l;2) = R(k,[) for notational efficiency. If we
want to show R(k,l) < M, then we need to show that V2-coloring of edges of K,,, 3 a red K or a blue Kj.
Conversely, if we want to show R(k,1) > m, then we need to show that for K, there exists a coloring such
that there is no red Kj nor blue K.

Lemma 5.17. R(p,q) < R(p—1,¢) + R(p,q — 1).
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Proof. Let N = R(p—1,q) + R(p,q — 1), think about 2-coloring on edges on K. Then for each vertex z, it
has R(p—1,q)+ R(p,q—1) — 1 neighbors. Then, by the pigeonhole principle, x has R(p—1, ¢) incident edges
with red or R(p,q—1) incident edges with blue. Without loss of generality, suppose « has R(p—1, ¢) incident
edges with red. Then take a set consisting of neighbor of x connected by red edges. Then, cardinality of the
set is R(p — 1, q), so there exists a clique of size p — 1 which are red or clique of size ¢ which are blue. If the
latter case occur, done. If the former case occur, then adding x on the clique with red edges form a clique
of size p with all red edges, done. O

Lemma 5.18. R(2,n) =n = R(n,2)

Proof. Think about K, _; with all blue color. Then, there is no n-clique, so there is no blue monochromatic
set with size n. Also, there is no size 2 red 2-clique, i.e., red edge, hence R(2,n) > n — 1. For K,,, if at least
one of edge is red, then this coloring has s2-clique with all edges are red. Otherwise, the whole K, is just
size n clique of all blue colored edges, so any coloring gives desired monochromatic sets, done. O

From above two lemma,

R(p,q) < (p;qIQ)

To see this, we use an induction on p + ¢. If min(p, q) = 2, then

R@ﬂ):PZ(p;3;2>=<f)=p

p+q—3 p+q—3 ptqg—2
<R(p— RS -
R(p,q) < R(p—1,9) + R(p,q 1)( p—1 >+( p—2 ) ( p—1 )

Otherwise,

where first inequality comes from inductive hypothesis, and the last inequality comes from Pascal’s identity.
Thus, if we fix p, then

p+1\ k2 p+2\ k3 2k — 2 N
< ~ — < ~ — < ~ .
R(p,3)_( ) ) 2!,R(p,4)_ 5 = R(k, k) < 1 cA* )Vk

For the lower bound, original idea is from Erdos, using probabilistic method. For given K, flip a coin
fo each edge to color it red or blue with probability

Pr(e = red) = Pr(e = blue) = 1/2.

Let X be the number of monochromatic k-subset of [n]. Then we want to compute E(X). If E(X) < 1,
then it gives you a graph without any monochromatic subset. Note that for any ¢-subset of vertices, say A,

Pr(A is monochromatic) = 91-(3)

since there are only two cases, all (g) edges are red or blue, and the probability of each one is 2_(5). Thus,

E(X)= Y 1xPr(Ais clique) = (") 91-(5).

k
ACn],|Al=k

So if (2)217(5) < 1 then R(k,k) > n.To find the best n, note that
n n*
<
(k> ~ k!

, k
(n) 21-(3) < ok itk < ( n ) 1 p-1/29-% ol+h

So
k7/6 V2T
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k :
Thus if we take n satisfying (ki/e) \/% - k’1/22*§ 215 < 1, then done. Take k-th root for each side, we

3

get
n k
—C kYo7 <1
k/e <
for some C' > \/5\/%1/1C for all £ € N. We claim C = 1, since k£ € N and the maximum value of \/ﬁﬁl/k

is when k =1, s0 C = % = 0.6366.. satisfies the condition. Also, by numerical investigation, we know that
k~1/2k < 1.3, thus C' - k=/2F < 0.8276.. < 1. Thus we can regard C - k~'/2% =1 to get a desired bound.
Thus

n k
—272 <1
k/e
which implies
n < ﬁ2’“/2
e

k/2

Hence n < e"/# gives lower bound (Erdos’ conclusion on the original paper). If we do more rigorous analysis,

we can get
1k

n< —=-
V2 e

since actually k—1/2F < 1/\/5 if K > 1. Hence

ok/2

R(k, k) > e\k/§2k/2(1 +0(1)).

In general, if Ip € [0, 1] such that

(Z)p@) + (:)(1 @ <1

then R(k,l) > n, since this is the expectation of K, having size k monochromatic red subset or size I
monochromatic blue subset. For example, if kK = 4, we want to make both summand less than 1/2. Thus,

4
ny (%) n\ ¢ n° 4 46
= = — 1/2 = 12
<k:>p ’ <4)p 247 <1/ nps

So take p = e - n~2/3, for some small € > 0 satisfying €5 < 12. This makes the above inequality hold. Then,
for the other part, note that 1 — p ~ e™P which is from well known inequality, so

l

(”) 1-p)@) ~ %e—pé

2
Thus, T[—;e’p% < % satisfies the desired condition that (Z)(l — p)(;) < 1/2. And this is equivalent to saying
that

2 12
ﬁnl <elr

and for any [ satisfying below inequality
2
nl < eP'z
2
satisfy %nl < eP'T since 2/11 <1 for any [ > 2. By taking In on the last inequality we get

12
llnn <p§ = 2Inn < pl.

2/3

So by letting p =€ -n~"%/° we get

I > e 'n?3lan.
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Hence,
R4, e 'n?31nn) > n
Thus,
l3/2

R(4, l) > CW

by some constant (which is a little bit tedious.), hence
R(4,1) > C12(+e(),

There are another method to find the lower bound, called the alteration method. Idea is to start with
a bicoloring with too many red K} or blue K;. Then remove one vertex from each cliques to get rid of such
monochromatic set. Then, if we follow the probabilistic process, then the remaining vertice is

(- (o

and there are no monochromatic cliques, which implies that R(k,l) should be greater than this number.
This can be summarized as below proposition.

Proposition 5.19. R(k,l) > n — (Z)p(};) -(Ha —p)(é) for any p € [0,1].
If [ = k, then
R(k,k) >n— (Z) 21-(3),

To make sense of this inequality, we need

B2 2 ), thus

1>> (Z)Ql—(’:f),

By the same procedure we did for Erdos’ analysis, we get
n27k? < k/e
which implies n ~ % > k/2.
Lemma 5.20 (Lovasz Local Lemma(LLL), simplified version). Let Ay,---, A, be events. If
1. Pr(4;) <p foralli
2. A; is mutually independent of all but at most d events,
3. ep(d+ 1) < 1, where e is Euler’s constant.
Then, Pr(NA¢) >0, i.e., probability of no event occur is nonzero.

Proof is omitted, since we just use it to calculate Ramsey number. For R(k, k), think about coloring each
edge of K,, by red or blue, with probability 1/2 for both. Then, we can think of bad case when k-clique is all
red or [-clique is all blue For S C [n] with |S| = k, let Kg be a clique generated by S. Then, the probability
of K is monochromatic is

Pr(Kg is monochromatic) = 21-(3),
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Say p = 921=(5). And note that the event of K. s is monochromatic and that of Kg are dependent if and only
if [SNS’| > 2. So fix S. Then,

since it is just choosing two points from S and the other points from k& — 2. Let d := (’;) (k’jz). Clearly, d is
overcounting but asymptotically enough. Then we need

ep(d+1) <1

to apply the LLL. If it is true, the by the LLL, the probability of no monochromatic subset of k exists is
nonzero. Actually, by investigating numerically, we can show ep(d + 1) < 1 when n > @2’“/ 2. Thus,

2
R(k, k) > V2ok72,
e
For your information, by applying LLL to R(3,k) and R(4, k) we get

]432
R(3,k) > C’W[Ajtai—Komlos—Szeremederi, 1980s
og

R(4,k) > Ck5/2+0(1)

and we know

Cm < R(3,k)

by [Kim,1995]

6 Spectrum of a graph

In this section, all graph is simple with n vertices. Adjacency matriz of a graph G is n X n matrix defined
by
1 ifo, ~w,
(Ac)ij = { Y
0 ow.

So, in the undirected simple graph, Ag is symmetric. Thus, from the linear algebra, we know that all
eigenvalues of A are real.

Definition 6.1. A characateristic polynomial of graph G is defined as that of Ag, i.e.,
ch(G, \) := det(A] — Ag).

Then, spectrum of G is all roots of ch(G,\) with order A\y > Ay > -+ with multiplicity mq,--- of those
T001S.

0 1

For example, K5 has A = (1 0

). So ch(K3,\) = A% — 1, hence

spec(Ky) = G _11>

where the first row denotes roots and the second row denotes multiplicities. In general,
AK,)=J-1

where J is a matrix whose element is 1 for all position. So think about roots of ch(K,,\) = det(Al — A(K,,)).
If A1, -+, A\, are roots, then A; + ¢,--- , A\, + ¢ are roots of det(A\ — A(K,) — ¢I). And we know that
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rank(J) = 1, thus null space of J has dimension n — 1. Thus 0 is an eigenvalue of J with multiplicity
n — 1. And ¢r(J) = n Hence, since trace is just sum of all eigenvalues, we know that J has an eigenvalues
n,0,---,0, which implies that J — I has an eigenvalues n — 1, —1,--- , —1 by above argument. So,

Spec(K,) = ("Il -1 )

n—1
From linear algebra, we know the meaning of coefficients in ch(G, A), namely
Proposition 6.2. If ch(G,\) = A" + s A\" L+ + ¢, 1A+ ¢y, then
(—1)i¢; = Z all principal minors of Ag of size i X i.

Thus, if G is simple, ¢; = 0, since ¢; = trace(Ag) = 0 (To get the trace, note that this characteristic
polynomial split with (z — \;)s.) ¢a = —|E(G)| since only possible nonzero principal minor of 2 x 2 is

det (? é), which corresponds to edges of G. c¢3 = 2# of triangles in G, since only possible nonzero

principal 3 x 3 minor of Ag is det

)
=

1
1] =2.
0

Definition 6.3 (Elementary Graph). An elementary graph is a simple graph such that each connected
component is 1-reqular or 2-regular, i.e. single edge or cycle. So no isolated vertices appear in any elementary
graph. A spanning elementary graph of G is an elementary graph which is subgraph of G but containing
every vertices of G.

For example,

The non-dashed graph is an elementary spanning graph. Let A be an elementary spanning tree of G. We
define some property of A as follow;

e ¢(A) = # of connected component of A.
o 7(A) =n—c(A).

e s(A) =m — r(A) where m stands for the number of edges of A. Thus, s(A) = # of cycles in A. To see
this, note that for any cycle in A, the number of edges of cycle minus the number of vertices is just
0. And for each single edge, the number of edges of an edge minus the number of vertices is just —1.
Hence, m — n is minus number of single edges. So if we let ¢(A) = a 4+ b where a stands for number of
single edges, and b stands for the number of cycles, then

s(A)=m—-n+a+b=—-a+a+b=0.

Proposition 6.4 (Harary). For a given simple graph G, and its adjacency matriz A,
det(A) = > (—1)"Mgs)
A: spaning elementary subgraph

Proof. By definition,

det(A) = Z Sgn(ﬂ-)alﬂ'(l) ©Qpp(n)-
TESy
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Then, @1y - - Gprny = 1 ifand only if (4, 7(7) is an edge. (Also, if aix(1) - Gpr(n) # 1, then a1y -+ Gpr(n) =
0, since A is 0-1 matrix. Since G has no loop, A = (V(G), {4, 7(i)}?_;) is an elementary spanning graph.

Hence,
Sgn(ﬂ') — (71)# of components having even number of vertices.

To see that # of components having even number of vertices is equal to r(A), supposet 7 consists of C}
cycles of length [ for each [ =1,2,--- ,n. Then,

n= ZlCl = ng mod 2
=1

where ng denotes the number of odd cycles, since even number of cycle is deleted by mod 2. So if we denote
¢(A) = n, + n. where n. denotes the number of components having even number of vertices, then

r(A) =n—c¢(A) =n—ng —ne =n, mod 2.

Now fix an elementary spanning subgraph A. How many different 7 can lead to the same A? For each
cycle in A, there are two choices of generating it using 7, one is clockwise and the other is counter-clockwise.
Note that single edge has only one choice. Thus, the number of 7 generating same A is 2°(™). So done. [

Proposition 6.5. If G is a simple graph, and ch(G,\) = X" + ;A" "L + -+ -+ ¢, 1\ + ¢, then
(~1ies = S -1y W
A
where A ranges over all elementary subgraphs of G with i vertices.

Proof. Note that each principal minor is the determinant of adjacency matrix of subgraph generated by
chosen vertices and edges between them. Thus, just apply the theorem on the principal minor to get above
result. O

For example, if ¢ = 3, then triangle is the only elementary spanning subgraph, so r =3 —1=2,s =1, thus

(1= 3 (-1)2=2.#A

triangle

If i = 4, then two types of elementary spanning graphs are here; rectangular or two single edges. A
rectangular has r = 3,s = 1, and two single edges give r = 2,5 =0, so

cy = # of pairs of disjoint edges — 2 - # of 4-cycles.
Now we know Cayley-Hamilton, from the linear algebra, that
Theorem 6.6. If p(\) = det(A — A) then p(A) =0, i.e., [, A, A% --. A" are linearly dependent.

And a monic polynomial of minimal degree k(t) such that k(A) = 0 is called the minimal polynomial

of A.
Proposition 6.7. If Ay, -+, A, are distinct eigenvalue of A, then k(X) = [[—; (A = \;)
Proof is from the linear algebra. From this we know below;

Proposition 6.8. Let G be a connected simple graph. If G has diameter d, with |E(G)| = m, then it has at
least d 4+ 1 distinct eigenvalues.

Proof. Tt suffices to show that I, A, A', A% ... A% are linearly independent, since otherwise, the minimal
polynomial has degree d, which implies that there is only d distinct eigenvalues from the above proposition,
contradiction.

Note that (A?%);; is the number of length 2 walks from v; to v;. In general, (A%);; is the number of length
d walks from v; to v;. Now by the definition of diameter, there exists two vertex v;,v; in G such that the
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minimum length of walk from v; to v; is d. Which implies that (A*);; = 0 for all 0 < k < d. Thus, A¢
cannot be made from linear combination of I, A, A%, ..., A%. Now by renumbering let P : v; — vg — -+ — vy
are such path. Then v; — vg_1 is the minimum length walk from v; to vy_1; otherwise it contradicts the
minimality of P by replacing it with new minimal edge on P. This implies (4%); 4-1 =0forall 0 <k < d—1,
but (A%); 4_1 = 1 when k = d—1. By the same argument we can show that any set {I, A, --- , Ak} is linearly
independent. Thus, I, A, A', A% ..., A% are linearly independent, done. O

Definition 6.9. Cospectral graph of a graph G is a graph that share the same graph spectrum.
Proposition 6.10. Let G be k-regular, connected graph. Then,

1. k is an eigenvalue of G

2. Multiplicity of k is 1,

3. For any eigenvalue \ of G, we have |\| < k.
Proof. For the first one, take Z = (1,1,---,1)%. Then,

AL = k7

from the regularity.
For the second one, assume ¢ = (y1, -+, yn)t # 0 is an eigenvector of A. Then, without loss of generality,
assume that y; is positive and y; has maximum absolute value among all elements in ¢. Then,

which implies
Yoo+ Yy = ky;

where v, , -+, v, are from N(v;). However,
|y’r’1 ++y7‘k| < |yT1| +oo |ka| < kyj'

and equality holds if and only if y,, = y; for all ¢ € [k]. Then, by the connectivity, all y;’s are the same
value. Hence eigenspace corresponding to eigenvalue k has dimension 1 generated by # = (1,1,---,1)!

For the third one, Let A be an eigenvalue with ¢ = (y1,- -+ ,y»)" # 0 as an eigenvector. Also assume that
y; is the greatest value among all elements in . Then by the above argument,

Yro ot Y = Ay,

Thus

)

k
IMlyil = lym + -+ un <D ly,
=1

So |A| < k. O

< kly,|

Note that if (A, Z) is a pair of eigenvalue and eigenvector, than so is (—\, —Z).

Definition 6.11. A n x n matriz S is called circulant if S;; = S1 j—it1 mod n, %€,

a b c z
e
b c d a
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Let W be a n X n circulant matrix starting with (0,1,0,---,0). Then it is known that eigenvalue of W

is all n-th roots of unity. Call it w,w?, -, w™ where w = e, Then, for any circulant matrix S starting
with a sequence (81, -, 8n),
n
S = Z Sjo_l
j=

So eigenvalue of S is

7j=1
where r =0,1,--- ,n— 1.
For example,
e The adjacent matrix of K, say A, is a circulant matrix with first row (0,1,---,1). Then, for r €

[n — 1] U {0}, by the above argument,
n—1
Ay = Z w' I
j=1

Thus its eigenvalue is of form

)\T+1:1+wr+w2r+._.+wr(n—1):{n ior 0

0 ow.

To see this, we use
MN—1=A=1D1+A+---+A"H

and the fact that (w”)™ = 1. Thus, the spectrum of K,,, which is

n—1 -1
1 n—1

where the first row is of eigenvalues and the second row is of multiplicities.

e (,’s adjacency matrix is a circulant with first row (0,1,0...,0,1). Then,
2
Ar = w" 4+ w7 = 2cos <W> .
n
hence _—
2 92cos (277) ... (M)
cos (57) " if n is odd
1 2 2
Spec(Cy) = (n-1)
2 2cos (2r) ... (u) _9 o
" " if n is even.
1 2 2 1

e The hyper octahedral graph, also known as cocktail party graph, H corresponds to a graph Ky, —
{sdiagonaledges}. For example, Hy = K, — {2 diagonal edges } = C4. It has an adjacency matrix
A which is circulant matrix with first row (0,1,---,1,0,1,--- ;1) where 0 appears on the first and
(s + 1)-th position. And its spectrum is

Spec(H.) = (231—2 0 —2)

s s—1
To see this,
s—1 2s—1 s—1 .
. . , 25 — 2 ifr=0
Ar = w4+ wl = (w"+1 w = )
2 2 e {—1—w"8 it #0
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where w is 2s-th roots of unity, i.e., w = 5. Thus, w™ = (—1)", hence
\ = 25 — 2 ifr=0
Tl 14 (D) ifr#£0

Hence when r is nonzero even, the eigenvalue is —2, and when r is nonzero odd, the eigenvalue is 0,
and multiplicities are just the number of nonzero even and nonzero odd, respectively.

Definition 6.12 (Line graph of G). Let G = (V, E) Then L(G) is a line graph of G defined as follow;
V(L(G)) = E(G). And E(L(G)) = {e; ~e; : ¢; and e; share a common vertec}.

For example, line graph of C,, is still C,,. Now let n = |V(G)|,m = |E(G)].
Definition 6.13 (Incidence matrix). We call a n x m matriz X is incidence matrix of G if
. {1 if v; incident to v,
(/A
0 o.w.
Then, each column sum is 2, each row sum is the degree of v;.
Proposition 6.14. XTX = Apa) and if G is k-regular, then XXT =Aqg — kI, = Lg.
Proof. Note that column of X7 represents an edge, so
0 if disjoint
(XTX);; =<1 if connceted

2 i=j
And by the same consideration,
0 if there is no edge between v;, v;
(XxT),; =<1 if it has edge

deg(v;) ifi=j

Quick result
Proposition 6.15. For all A € Spec(L(G)), A > —2.

Proof. Eigenvalue of Ap(g) + 2 is the eigenvalue of X T X, which is positive semidefinite, which implies all
eigenvalues are > 0. O

Proposition 6.16 (Sachs). G is k-regular, k > 2, then ch(L(G),\) = (A +2)" " "ch(G, X + 2 — k), where
m = |E(G)],n = [V(G)].

Corollary 6.17. If Spec(G) is \y > -+ > A, then Spec(L(QG)) is -2 of multiplicity of m —n and 2k —
2, +k—2,--- X\, +k—2.

Actually corollary is just holds from the roots of polynomial for such change of coefficients.

Proof of the Theorem. Note that det(AB) = det(A)det(B). Let U = ()\é” _IX> V= ()I(nt )\)I( >
Then,

_ T
UV = </\In XX 0 )7VU: </\I,,L 0 >

Xt A, AXE AL, — XX
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Since det(UV) = det(VU), we know
A" det(A, — XX') = det(VU) = X" det (A, — X' X),
from the formula of determinant of block matrix. Thus,
ch(L(G),\) = det(AL, — Ap(qy) = det((A+2)1, — X'X) = (A +2)" " det (A +2)],, — XX*)
Then from k-regularity, X X = kI,, + Ag, so
ch(L(G),\) = (A +2)" "det (A +2—k)I, — Ag) = (A +2)"""ch(G; A+ 2 — k).

For example, to calculate Spec(L(K},)), we know

specmn)—(”;l ‘1) — Spec@(Kn))—(Q”{ i fn)

n—1 n—1
by the corollary. So if n = 4,
4 0 -2
Spec(L(Ky,)) = 13 92 )

6.1 Matrix Tree Theorem

Let G be a connected graph. Allow multiple edges. We want to have a formula for the number of spanning
trees of G.

e Step 1: Binet-Cauchy Theorem

Theorem 6.18. Let A € Mat,,xn, B € Mat,xm. If m > n, then det(AB) = 0 since rank(AB) =
n < m, which means singular. Otherwise, if n > m,

det(AB) =) _ det(A[S]) det(B[S])
S

where S ranges over all m-element subsets of [n], and A[S] is a m x m submatriz of A consisting of
columns whose set of indices is S, and B[S] is a m x m submatriz of A consisting of rows whose set
of indices is S,

C1 d1

For example, if A = o azas ,B=1cy dz|.Then
by by by p
€3 a3
_ a1 az||c d1 a; ag||Cy d1 s ag| (C2 d2
det(AB)_ b1 b2 C2 d2 bl bg C3 d3 + b2 bg C3 d3

where each term is from S = {1, 2}, {1, 3}, {2, 3} respectively. Proof is omitted.

e Define signed incidence matrix. Fix for each edge an orientation. Then, signed incidence matrix is
a size n X m matrix defined as following;

1 if v; is the head of ¢;
(M)ij = —1 if v; is the tail of e;
0 if v; is not incident to e;.

Then 4-th row sum of M is outdeg(v;) — indeg(v;), and column sum of M is just 0. Now define the
Laplacian matriz.L := MM?!. Then,

= D(G) — A(G)

—Myj if there are m;; edges between v;, v;
(L)ij = . _
deg(v;) if v; = v,.

where D(G) is a degree matrix, which is a diagonal matrix whose diagonal term is just degree. If G is
k-regular, then L = kI, — Ag.
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e Let S be a set of n — 1 edges of G. Then, let My be (n — 1) X m submatrix of m by removing the last
row. Then, My[S] is (n — 1) x (n — 1) submatrix of A consisting of columns whose set of indices is S.
We claim

det(Mo]S]) = {0 if S doesn’t form a spanning tree '

+1 S form a spanning tree

To see this. note that S forms a spanning tree or S contains cycle. Without loss of generality, if e1, -, ey,
in S forms a cycle, then their (signed) column on M sum is 0, by forming a directed cycle (what I care
about by this statement is a case of edges such as 1 — 2 — 3 and 1 — 3; in this case we should sum first
two columns representing 1 — 2 — 3 and subtract third column representing 1 — 3 to get notrivial
linear combination which gives 0. Thus, columns are not linearly dependent, hence determinant is 0.
Since column sum and row sum is always 0, deleting last row doesn’t effect it. So done.

If S has no cycle, then their column is linearly independent; to see this, if not, there exists a nontrivial
combination of columns giving 0. Since each column consists of 1,0, —1, we can just make a path from
column to column by removing each 1’s. For example, let’s think about the case

2(15 07 _L O)t + (_1) : (07 1a _170)t + 1(_13 17070)t + 1(_17 0707 1)t + 1(0, 07 _17 1)t =0

We can rewrite this sum, so that 1) each term is just consists of vectors in My with coefficient +1. 2)
And each partial sum from first term to i-th term is always a vector consists of 1,0 — 1. Proving it is
not difficult’ 1) is just from the property that each elements sum is 0. 2) is from the fact that rewritten
always give cancellation of some element and adding 1 on another position. For example, above case
can be rewritten as

(1,0,—1,0)" — (0,1,—1,0)" + (~1,1,0,0)* + (1,0, —1,0)" — (0,0, —1,1)" + (~1,0,0,1)* =0

From this we can get cycle, by walking edges in reverse order; for example, (1,0, —1,0) means an edge
v1vs, so connecting each edges, we get

V1V3 — V3V —r VU1 —» V1VU3 —» U3V4 —» V4V
thus it has cycle, done.
From above facts, we can get below theorem.

Theorem 6.19 (Matrix Tree Theorem). Let Ly be a matriz obtained from L(G) by removing the last row
and the last column. Then, det(Lg) = t(G), the number of spanning tree.

Proof. Note that L = MM?. And each element in the last row of L denotes the product of last row of M
and each corresponding column of M?. Similarly, each element in the last column of L denotes the product
of each corresponding row of M and the last column of M.

From the Cauchy-Binet,

det(Lo) = Y _ det(My[S]) det(Mo[S]")
S

where S ranges over all (n —1) subsets of E(G). By the above result, det(My[S]) = £1 if and only if S forms
a spanning tree. Also, det(My[S]*) = det(My[S]) Hence,

> det(Mo[S]) det (Mo[S]") = > 1=1(GQ).
S S: spanning tree of G
O
Remark that this is true for L obtained from L by removing 1 row and the one column, i.e., not necessarily
choose the last row and last column. (This is because we can do the same argument of determinant of M,
where M; means deleting j-th row on M.) Which menas the (i, j)-cofactor of L is always ¢(G). Thus,

det(L) =0, and
L-adj(L) =det(L)- I

How to express det(Lg) in terms of L directly? The answer is
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Claim 6.20.
(—=1)"‘ndet(Lo) = coefficient of A in det(AI — L).

Proof. By linear algebra, we know

_det MM M
det(A] — L) = det My, A= M|
Add all row to the last one we get (1,---,1) on the last row, and its submatrix gives det(Lg), which gives
the claim. 0

Now note that spectrum of L gives 1 > -+ > u, where u, = 0, since L is symmetric real. Thus,
det(A\ —L)=(A—p1)---(A=0).

So coefficient of A is
(=)™ g pin

Corollary 6.21. ¢(G) = %ul Ce fp—1-

Proof. Apply above claim. O
If G is k-regular, then
L=kI—-A
SO L
tG) = g(k = A1) (k= Ano1)
where A1,---, A\,_1, k are spectrum of G.

e K, is (n — 1)regular, so
1
t(K,) = ﬁ(n —1— (=)t =n""2
e Q, has Spec(Q,) = n — 2i with multiplicity () from 0 < i < n. Hence,

1 NG
tQu) = [T
Now we can generalize the matrix tree theorem.

Definition 6.22. A digraph D is Eulerian iff forall v € V(D),
indeg(v) = outdeg(v)
called balanced, and D is connected.

Given D is connected and balanced, how many Eulerian trails? To see this, fix and arc e, and look at
the number of Eulerian trail starting at e. To see this, think about oriented rooted tree in D rooted at v.
Let 7(D,V) be the number of oriented rooted tree in D with root v. Then, the number of eulerian trail
containing e is equal to

7(D,v) H (outdeg(u) — 1)

ueD

Theorem 6.23 (BEST theorem). Let laplacian of D has element in (1, j)position as —m;; if i # j or
outdegree of v; if i = j. Then, let Ly be matrix removing the last column and last row. Then,

7(D,V,) = det(Ly).

BEST stands for de Brujin, van Aardensee-Ehrenfest, Smith, and Tutte.
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